FITIN N » 1] M'” sttty LT
yiien § 'I FEFA N .AWE.AWE,

— .

@ O @ @ @ & CoeauHeHus DIN 2353

CtpaHuua / Page 4 5
w : I w — |—|" .‘I
S W]
7400 7410
[aitka
KonbLuo BpesHoe
CtpaHnuua / Page 6 7-9 10 11-12 13-14
] II‘IE mi" 1!‘ | imi | ml |
7415 7430 7430 7440 7450
HY-RING™ . C pe3nHoBbLIM BSPT - Metrric Taper -
Kit dado/anello BSP - Metric UN/UNF-2A YNNOTHEHNEM - NPT
CtpaHnuua / Page 15-16 17 18-19 20 21
r . . (= o o
put p - ——ap— El !:-..-' l_
] B [ [ |
7460 7470 7600 7600 7605
. Perynupyembiii wtyuep - Perynupyembiii wryuep - Perynupyemblii wryuep -
BSPT/Metr Taper/NPT BSP - Metric BSPP/Metric UNE Metric
CtpaHuua / Page 22-23 24 25 26
r m . ]_L - | e | m -
. al -l -
' i = I -
] m
7480 7490 7620 7620
BSPT - Metric Taper - . Perynupyembiit wtyuep - Perynupyemblii wryuep -
NPT BSP - Metric BSPP
CtpaHnuua / Page 27 28 29 30
r - e m = mro.
E g B F
7180 7190 7610 7610
BSPT - Metric Taper BSP - Metric Perynmpygg;l: wryuep - Perynupyemblit wryuep -
CtpaHnuua / Page 31 32 33 34 35

mfiw  wiiw

E
il
3
B
-
|
i)
= |
"

7500 7510 7520 7000 7010
KoHHekTOp KoHHekTOp KoHHekTOp TpoWHuK KoHHekTop
COEANHUTENbHbIN, COEANHUTENbHbIN, COEAUHUTENbHLI 90° COEAUNHUTENbHbIV COEANHUTENBHBIR X-

Dimensions and general characteristics may be changed at any time without prior notice.
Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product

Any use of the product not in conformance with our instructions may be dangerous.

1-D



FYTIE N, ] | — — == Wr ET=2r "~ -~
yiaan 8 !Press N"l .‘IIII.I-I'#.I"I'-

s 118 S —

@ O @ @ @ & CoeauHeHus DIN 2353

CtpaHnuua / Page 36 37

| im' (| ™ [
7020 7130
MpsiMoe nepeGopoyHoe [MepeGopoyHbIv agantep

coeauHeHne 9

0°
Ctpanuua / Page 38-39 40-41 42 X} 44 45-46

L A (- e e

——

" = P —— W (] e [ =

7360 7370 7380 7170 7530 7210
Stud/Standpipe Adaptors Standpipe/Tube Straight coupling with Stud /Standpipe Stud /Standpipe Standpipe/Tube
Packing ring/ O.Ring Seal Reducers 'L-S' Series O.Ring Adaptors - BSP/Metric Adaptors -NPT Reducers
CtpaHnuua / Page 47 47 48 48
m [ Dl — = fa [ m
- i .~ ] T i
T l i B ,1 .
Ml 15l
7140 7090 7330 7300
- . Angular rotary fitting with Swivel Elbows with
Angular rotary fitting Swivel Elbows O.Ring Seal O.Ring Seal - BSP/Metric
CtpaHnuua / Page 49 49 50 50
| .
L _Sas | I m=m | i =
T - _J- — 4
= ity ) 8
i. B
7150 7100 7340 7310
Rotary fitting a Tees Swivel Branch Tees - Rotary fitting a Tees with Swivel Branch Tees with
ry fitting BSP/Metric O.Ring Seal O.Ring Seal - BSP/Metric
CtpaHnuua / Page 51 51 52 52
- i - Clrerar | miteh o o-

el = o | =" | _— f
L E " 3
{

7160 7110 7350 7320
Rotary fitting a L Swivel Barrel Tees - Rotary fitting a L with Swivel Barrel Tees with
i 9 BSP/Metric O.Ring Seal O.Ring Seal - BSP/Metric
Crtpanuua / Page 53 54-55 56-57
e, - -
[a— W
[H- _ i
g B L k | 2
=15 = l_.-l". =1 F
7070 7200 7230
. . Banjos - BSP/Metric with Double orientable fitting -
Banjos - BSP/Metric O. ring seal BSP/Metric

Dimensions and general characteristics may be changed at any time without prior notice.
Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product

Any use of the product not in conformance with our instructions may be dangerous.

2-D



r'vvl' Fa ] | - m." ve
yypress [|] Il i nam

@ O @ @ @ & CoeauHeHus DIN 2353

CtpaHnuua / Page 59 60

"o " —
J;.Jb;_l : I i m

i [ ]
7240 7240 7030 7250
type A - BSP type B - BSP MQM:;‘:::EH‘DM BSP/Metric

63

CtpaHuua / Page 62

frfee . v - l . '
|—1 " -
— :
— ¥ % oandt -
7390 7260 7270 7290
Funb3a Tpy6Has 3arnyLuka ¢ BHyTPEHHUM 3arnylka TpyGHas Barnywka Tpy6Has ¢
LLIECTUTPaHHIKOM, YNNOTHUTEbHBIM

CtpaHnuua / Page 65 66 67

-
7280 7420 7120
MpyBapHO TpyGHeI [onoBka npueapHas [MpuBapHOI KOHHEKTOP
Hunnenb C

CtpaHnuua / Page 68 69 70

m i mt
7040 7050 7060
KoHTponbHbIM knanaH Bxopn B.S.P. Bbixoa B.S.P.

Dimensions and general characteristics may be changed at any time without prior notice.
Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product

Any use of the product not in conformance with our instructions may be dangerous.

3-D



L oo ddapiors— ) (RIIN

CHI1

T

L)
22

7400 lawnka
Nuts

@ Tube

part number | @ tube

Q
e

ol

10
6 12
8 M 12x1 12 14
10 17
19

w
()

NN NN NN N NN
L L T T
S © © o © © o © o
S & & & S & & & &
A& L NN L LA S S5 S
NG ® N N o ® & &
rrr-r o e Y e

rrr-rrr

M 24x1,5
7400-20S 20 M 30x2 24 36
7400-25S 25 M 36x2 27 46
M 42x2

Fluid Power Care 4-D IMM Group



L e owzsssadapiors—JUTET0)

7410 Konbuo Bpe3Hoe

Cutting Rings

7410-04LL
7410-06LL
858 100 7410-08LL

7410-10LL

7410-12LL

7410 10LS
7410 12LS

7410-22L
741 0-28L
7410 35L
7410-42L

7410-16S
741 0-20S
7410 258
7410-30S

L1

1
P Tube

mm

6 7 8
8 7 10
10 95 10

12

10
12

10,5 27
28 11 33
35 13 41

10,5
20 12 26
25 12 32

@D

Fluid Power Care

IMM Group



LI
| 1]

Ty press ,::: MM

7415 HY-RING™ - Ha6op 2alika/konbyo

HY-RING™ - Kit nut/ring
Guarniziohe
elastomerica in Vi‘ron@‘
L=d T A (| C s (o [ IS
= %
Anello a doppio
1.
XapaKTepucTUKu: Features:
e Habop  HY-RING™  coctouT 13  BpesHOro  KombLa, e The HY-RING™ kit is composed by: Cutting ring (two-

MeTannM4eckoro CynmnopTHOro KorbLia COBMECTUMOTO C rawKkomn
DIN, nntoc ogHO enacToMepHoe ynioTHUTENbHOE KOJbLO.

e CTaHOapTHOEe  3MacTOMEpHOe  YMIOTHEHWE  W3rOTOBMSIETCS

Viton®. Mo 3aka3y Bo3moxHO uarotoBneHne m3 NBR, EPDM wu
=174 V]
e B cpaBHeHWUM C TpaaWUMOHHBIM BPE3HbIM KOMbLOM (YMIoTHEHWE

meTan K MeTany), B OaHHOM Cry4ae YMIOTHEHWE YIyuylleHO
ARAATARMARLL IR UMIRATLATA L UL IR YAMLE AR

o CTaHgapTHOe YMMOTHUTENbHOE 3MacTOMEPHOE KOMbLO Merko
3ameHsiemMo. Bo um3bexaHne noBpexedHWsl, yCTaHaBMMBaeTCs
nocne Bpe3ku.

e CynnopTHOe KOMbLO YCWUNEeHHO, BO u3bexaHue Aedopmauum
BPE3HbIM KOJbLIOM.

® YMeHblUeHHas rMy6uHa BPE3KM MNO3BOMSET MCMOMb30BaHWE C
TOHKOCTEHHBIMU TPy6amu.

m part number | @tube m

cut), Metal outer ring (support ring) integrated with the
DIN nut plus one elastomeric seal

The standard elastomeric seal is supplied in Viton®.
Available on request in NBR, EPDM e FKM.

Compared to the traditional cutting ring (iron/iron seal)
seal is improved by the elastomeric seal.

The standard elastomeric seal is easy to replace. To
avoid any damage is fitted after the pre-assembly

The support ring has been hardened to prevent to be
engrave by the cuttin ring. It reduces tollerancence
problems and consent accurately to define the cut

Reduced cutting depth make it suitable for thin

thicknesses.

[ mom | F [ L | CHi
7415.e|_ B M DS 14,5 1
7415.8L 8 M14x15 145 17
415 41510 10 M16x15 155 19
7415-12L 12 M18x15 155 22
7415151 15 M22x15 17 27
7415-18L 18 M26x15 18 32
7415-22L 22 M 30x2 20 36
160 7415-28L 28 M 36x2 21 41
7415-35L 35 M 45x2 24 50
7415-42L 42 M 52x2 24 60
741565 6  M14xi5 16,5 17
50 741595 8  M16x15 16,5 19
7415108 10 M18x15 175 22
7415128 12 M20x15 175 24
7415165 16 M24x15 205 30
40 7415205 20  M30x2 24 36
7415255 25 M36x2 27 46
7415-308 0 M4 29 50
315 7415.388 8 M52 325 60




it ypees ]

7430 KoHHeKTOp, HapyHble pe3bbbl
Male Stud Couplings

CHI1—]

13 |, 12

Pe3bba / Thread:
BSPP (Form B DIN 3852)

part number
m (body only) mm

| bar _-__

7430-06LR-1 6 G 1/8 23 8,5
7430-06LR04-1 6 G 1/4 245 10 12 1 9 14
7430-06LR06-1 6 G 3/8 26 115 12 22 14
7430-06LR08-1 6 G1/2 27 12 14 27 14
7430-08LR-1 8 G 1/4 25 10 12 19 17
7430-08LR02-1 8 G 1/8 245 95 8 14 17
7430-08LR06-1 8 G 3/8 26,5 11,5 12 22 17
7430-08LR08-1 8 G1/2 27 12 14 27 17
7430-10LR-1 10 G 1/4 26 11 12 19 19
7430-10LR02-1 10 G 1/8 255 105 8 17 19
315 7430-10LR06-1 10 G 3/8 27,5 125 12 22 19
7430-10LR08-1 10 G1/2 28 13 14 27 19
7430-12LR-1 12 G 3/8 27 125 12 22 22
7430-12LR04-1 12 G 1/4 26,5 12 12 19 22
L 7430-12LR08-1 12 G1/2 275 13 14 27 22
7430-12LR12-1 12 G 3/4 29 14 16 32 22
7430-15LR-1 15 G1/2 29 14 14 27 27
7430-15LR06-1 15 G 3/8 28,5 135 12 24 27
7430-15LR12-1 15 G 3/4 30 15 16 32 27
7430-18LR-1 18 G1/2 31 14,5 14 27 32
7430-18LR06-1 18 G 3/8 29 14 12 27 32
7430-18LR12-1 18 G 3/4 31 14,5 16 32 32
7430-22LR-1 22 G 3/4 33 16,5 16 32 36
7430-22LR08-1 22 G1/2 33 16,5 14 32 36
7430-22LR16-1 22 G1 34 175 18 41 36
160 7430-28LR-1 28 G1 34 175 18 41 41
7430-28LR12-1 28 G 3/4 34 175 16 41 41
7430-35LR-1 35 G11/4 39 175 20 50 50
7430-35LR16-1 35 G1/2 39 175 18 46 50
7430-42LR-1 42 G112 42 19 22 55 60




i ypress [

7430 KoHHeKTOp, HapyXHble pe3bbbl
Male Stud Couplings

CHI1—]

13 |, 12

Pe3bba / Thread:
BSPP (Form B DIN 3852)

part number
b
m (body only) mm

| bar _-__

7430-06SR-1 6 G 1/4
7430-06SR08-1 6 G1/2 33 18 14 27 17
7430-08SR-1 8 G 1/4 30 15 12 19 19
7430-08SR06-1 8 G 3/8 30,5 15,5 12 22 19
7430-10SR-1 10 G 3/8 31 15 12 22 22
630 7430-10SR04-1 10 G 1/4 30,5 14,5 12 19 22
7430-10SR08-1 10 G1/2 33,5 17,5 14 27 22
7430-12SR-1 12 G 3/8 33 17 12 22 24
7430-12SR04-1 12 G 1/4 32,5 16,5 12 22 24
7430-12SR08-1 12 G1/2 33,5 17,5 14 27 24
7430-14SR-1 14 G1/2 37 19 14 27 27
7430-14SR06-1 14 G 3/8 36,5 18,5 12 24 27
7430-16SR-1 16 G1/2 37 18,5 14 27 30
7430-16SR06-1 16 G 3/8 36,5 18 12 27 30
7430-16SR12-1 16 G 3/4 39 20,5 16 32 30
7430-20SR-1 20 G 3/4 42 20,5 16 32 36
400 7430-20SR08-1 20 G1/2 42 20,5 14 32 36
7430-25SR-1 25 G1 47 23 18 41 46
7430-255R12-1 25 G 3/4 47 23 16 41 46
7430-30SR-1 30 G11/4 50 23,5 20 50 50
7430-30SR16-1 30 G1 50 23,5 18 46 50
315 7430-38SR-1 38 G11/2 57 26 22 55 60
7430-38SR20-1 38 G11/4 57 26 20 55 60




il Upress I

7430 KoHHeKTOp, HapyHble pe3bbbl
Male Stud Couplings

13 |, 12

Pe3bba / Thread:
Metric (Form B DIN 3852)

part number
m (body only) mm

[ bar | | mm [ F_ ] L] Lo | L3 ]| CHi]CHo|

7430-06LM-1 6 M 10x1 23 8,5
7430-08LM-1 8 M 12x1,5 25 10 12 19 17
7430-08LM18-1 8 M 18x1,5 26,5 11,5 12 24 17
7430-10LM-1 10 M 14x1,5 26 11 12 19 19
7430-10LM16-1 10 M16x1,5 27,5 12,5 12 22 19
7430-10LM18-1 10 M18x1,5 27,5 12,5 12 24 19
7430-10LM22-1 10 M 22x1,5 29 14 14 27 19
315 7430-12LM-1 12 M 16x1,5 27 12,5 12 22 22
7430-12LM14-1 12 M 14x1,5 27 12,5 12 19 22
7430-12LM18-1 12 M 18x1,5 27 12,5 12 24 22
L 7430-12LM22-1 12 M22x1,5 28,5 14 14 27 22
7430-15LM-1 15 M 18x1,5 29 14 14 27 27
7430-15LM16-1 15 M 16x1,5 28 13 12 24 27
7430-15LM22-1 15 M 22x1,5 30 15 14 27 27
7430-18LM-1 18 M 22x1,5 31 14,5 14 27 32
7430-18LM18-1 18 M 18x1,5 30,5 14 12 27 32
7430-22LM-1 22 M 26x1,5 33 16,5 16 32 36
7430-22LM22-1 22 M 22x1,5 33 16,5 14 32 36
160 7430-28LM-1 28 M 33x2 34 17,5 18 41 41
7430-35LM-1 35 M 42x2 39 17,5 20 50 50
7430-42LM-1 42 M 48x2 42 19 22 55 60
7430-06SM-1 6 M 12x1,5 28 13 12 19 17
7430-08SM-1 8 M 14x1,5 30 15 12 19 19
630 7430-10SM-1 10 M 16x1,5 31 15 12 22 22
7430-12SM-1 12 M 18x1,5 33 17 12 24 24
7430-12SM22-1 12 M22x1,5 33,5 17,5 14 27 24
7430-14SM-1 14 M 20x1,5 37 19 14 27 27
7430-16SM-1 16 M 22x1,5 37 18,5 14 27 30
7430-16SM18-1 16 M 18x1,5 36,5 18 12 27 30
400 7430-20SM-1 20 M 27x2 42 20,5 16 32 36
7430-25SM-1 25 M 33x2 47 23 18 41 46
7430-30SM-1 30 M 42x2 50 23,5 20 50 50
315 7430-38SM-1 38 M 48x2 57 26 22 55 60




'" ﬁﬂ iIMM.

7430 KoHHEKTOp BKpyuMBaeMbli, HapyXHble pe3bbbl, |

Male Stud Couplings rubber seai

Pe3bba / Thread:

UNF/UN (1SO 11926-1)

part number
ﬂ (body only) m

—-—nm

7430-08LU04-1
7430-10LU04-1
7430-12LU06-1
7430-12LU08-1
315 7430-12LU10-1
7430-15LU08-1
7430-15LU10-1
7430-18LU08-1

L 7430-18LU10-1
7430-22L.U10-1
7430-22L.U12-1
7430-22L.U16-1
7430-28LU12-1
7430-28LU16-1
7430-35LU16-1
7430-35LU20-1
7430-42.U20-1
7430-08SU04-1
7430-10SU06-1
7430-125U06-1
7430-125U08-1
7430-16SU08-1
7430-16SU10-1
7430-20SU08-1
7430-20SU10-1

400 7430-20SU12-1
7430-255U12-1
7430-255U16-1
7430-30SU16-1
7430-30SU20-1

315 7430-38SU20-1

160

630

1 0
12
12
12
15
15
18
18
22
22
22
28
28
35
35
42
8
10
12
12
16
16
20
20
20
25
25
30
30
38

7/16-20 UNF
7/16-20 UNF
9/16-18 UNF
3/4-16 UNF
7/8-14 UNF
3/4-16 UNF
7/8-14 UNF
3/4-16 UNF
7/8-14 UNF
7/8-14 UNF
11/16-12 UN
15/16-12 UN
11/16-12 UN
15/16-12 UN
15/16-12 UN
15/8-12 UN
15/8-12 UN
7/16-20 UNF
9/16-18 UNF
9/16-18 UNF
3/4-16 UNF
3/4-16 UNF
7/8-14 UNF
3/4-16 UNF
7/8-14 UNF
11/16-12 UN
11/16-12 UN
15/16-12 UN
15/16-12 UN
15/8-12 UN
15/8-12 UN

13,8
13,8
16,8
21,8
26,8
21,8
22,3
21,8
26,8
26,8
31,8
40,8
31,8
40,8
40,8
49,8
49,8
13,8
16,8
16,8
21,8
21,8
26,8
21,8
26,8
31,8
31,8
40,8
40,8
49,8
49,8

25
26
25,5
27,5
29
29
29
31
31,5
33,5
33
34
34
34
39
39
42
30
30,5
30,5
33,5
34
37,5
42
425
42
47
47
50
50
57

10
1
1
13

14,5
14
14

14,5
15
17

16,5

17,5

17,5

17,5

17,5

17,5
19
15

14,5

14,5

17,5

15,5
19

20,5
21

20,5
23
23

235

235
26

9
10
11
12,5
11
11
11
12,5
12,5
15
15
15
15
15
15
15
9
10
10
11
11
12,5
11
12,5
15
15
15
15
15
15

17
19
22
27
24
24
27
27
32
32
41
41
41
46
50
55
17
19
22
22
27
27
32
32
32
36
41
46
50
55

19
22
22
22
27
27
32
32
36
36
36
41
41
50
50
60
19
22
24
24
30
30
36
36
36
46
46
50
20
60

8,92x1,83
8,92x1,83
11,9x1,98
16,36x2,20
19,18x2,46
16,36x2,2
16,36x2,2
16,36x2,2
19,18x2,46
19,18x2,46
23,47x2,95
29,74x2,95
23,47x2,95
29,74x2,95
29,74x2,95
37,46x3
37,46x3
8,92x1,83
11,9x1,98
11,9x1,98
16,36x2,20
16,36x2,20
19,18x2,46
16,36x2,20
19,18x2,46
23,47x2,95
23,47x2,95
29,74x2,95
29,74x2,95
37,46x3
37,46x3

- Gamma di temperature senza riduzioni di pressione con i raccordi con guarnizioni O.Ring in NBR (di
serie) e FPM (su richiesta): NBR (Perbunan): da -35° a +100°C - FPM (Viton): da -25° a +120°C

*-Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to
order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

10-D



.4 !’Y: :wm "' ':

~ DIN2353Adaptors |
| 1]

MM,

7440 KoHHeKTOp BKpy4MBaeMbli,
Hapy>XHble pe3bbbl,

VANOTHUTENKkHOR KOMkIIN
Male Stud Couplingsrubber seai

Pe3bba / Thread:

BSPP (Form E DIN 3852)

part number
ﬂ (body only) m

7440-06LR-
7440-06LR04-1
7440-06LR06-1
7440-08LR-1
7440-08LR02-1
7440-08LR06-1
7440-08LR08-1
7440-10LR-1
7440-10LR02-1
315 7440-10LR06-1
7440-10LR08-1
7440-12LR-1
7440-12LR04-1
L 7440-12LR08-1
7440-15LR-1
7440-15LR06-1
7440-15LR12-1
7440-18LR-1
7440-18LR12-1
7440-22LR-1
7440-22L.R08-1
7440-22LR16-1
7440-28LR-1
7440-28LR12-1
7440-35LR-1
7440-35LR16-1
7440-42LR-1
7440-06SR-1
7440-08SR-1
7440-08SR06-1
7440-10SR-1
7440-10SR04-1
630 7440-10SR08-1
7440-12SR-1
7440-12SR04-1
7440-12SR08-1
7440-14SR-1
7440-14SR06-1
7440-16SR-1
7440-16SR06-1
7440-16SR12-1
7440-20SR-1
400 7440-20SR08-1
7440-25SR-1
7440-25SR12-1
7440-30SR-1
7440-30SR16-1
7440-38SR-1
7440-38SR20-1

160

315

-——

© 0 0O O O O

10
10
10
12
12
12
15
15
15
18
18
22
22
22
28
28
35
35
42

10
10
10
12
12
12
14
14
16
16
16
20
20
25
25
30
30
38
38

G1/8
G 1/4
G 3/8
G 1/4
G1/8
G 3/8
G1/2
G 1/4
G1/8
G 3/8
G1/2
G 3/8
G 1/4
G1/2
G1/2
G 3/8
G 3/4
G1/2
G 3/4
G 3/4
G1/2
G1
G1
G 3/4
G11/4
G1
G112
G 1/4
G 1/4
G 3/8
G 3/8
G 1/4
G1/2
G 3/8
G 1/4
G1/2
G1/2
G 3/8
G1/2
G 3/8
G 3/4
G 3/4
G1/2
G1
G 3/4
G11/4
G1
G11/2
G11/4

24,5
26
25

24,5

26,5
27
26

25,5

27,5
28
27

26,5

27,5
29

28,5

42

30,5
31
30,5
33,5
33
32,5
33,5
37
36,5
37
36,5
39
42
42
44
47
50
502
57
57

8,5
10
11,5
10
9,5
11,5
12
11
110,5
12,5
13
12,5
12
13
14
13,5
15
14,5
14,5
16,5
16,5
17,5
17,5
17,5
17,5
17,5
19
13
15
15,5
15
14,5
17,5
17
16,5
17,5
19
18,5
18,5
18
20,5
20,5
20,5
22,5
23
23,5
15,5
26
26

12
12
12
8
12
14
12
8
12
14
12
12
14
14
12
16
14
16
16
14
18
18
16
20
18
22
12
12
12
12
12
14
12
12
14
14
12
14
12
16
16
14
18
16
20
18
22
20

19
22
19
14
22
27
19
17
22
27
22
19
27
27
24
32
27
32
32
32
41
41
41
50
46
55
19
19
22
22
19
27
22
22
27
27
24
27
27
32
32
32
41
41
50
46
55
55

14
14
17
17
17
17
19
19
19
19
22
22
22
27
27
27
32
32
36
36
36
41
41
50
50
60
17
19
19
22
22
22
24
24
24
27
27
30
30
30
36
36
46
46
50
520
60
60

1-D



il UPFQSS .

7440 KoHHeKTOp BKpy4MBaeMbli, CH1—| ) ‘
Hapy>XHble pe3bobl, —Adaas '
VAMNOTHUTENKkHOe KONkIIN MWM

1|| ||.,:ll
Pe3bba / Thread:

Male Stud Couplingsrubber seai
L3 ‘ L2
Metric (Form E DIN 3852)
part number

| bar _-__

7440-06LM-1 6 M 10x1 23 8,5
7440-08LM-1 8 M 12x1,5 25 10 12 17 17
7440-10LM-1 10 M 14x1,5 26 11 12 19 19
7440-10LM16-1 10 M16x1,5 27,5 12,5 12 22 19
7440-10LM18-1 10 M18x1,5 27,5 12,5 12 24 19
7440-10LM22-1 10 M 22x1,5 29 14 14 27 19
7440-12LM-1 12 M 16x1,5 27 12,5 12 22 22
315 7440-12LM14-1 12 M 14x1,5 27 12,5 12 19 22
7440-12LM18-1 12 M 18x1,5 27 12,5 12 24 22
L 7440-12LM22-1 12 M22x1,5 28,5 14 14 27 22
7440-15LM-1 15 M 18x1,5 2 13,5 12 24 27
7440-15LM16-1 15 M 16x1,5 28 13 12 24 27
7440-15LM22-1 15 M 22x1,5 30 15 14 27 27
7440-18LM-1 18 M 22x1,5 31 14,5 14 27 32
7440-18LM18-1 18 M 18x1,5 30,5 14 12 27 32
7440-22LM-1 22 M 26x1,5 33 16,5 16 32 36
7440-22LM22-1 22 M 22x1,5 33 16,5 14 32 36
160 7440-28LM-1 28 M 33x2 34 17,5 18 41 41
7440-35LM-1 35 M 42x2 39 17,5 20 50 50
7440-42LM-1 42 M 48x2 42 19 22 55 60
7440-06SM-1 6 M 12x1,5 28 13 12 17 17
7440-08SM-1 8 M 14x1,5 30 15 12 19 19
630 7440-10SM-1 10 M 16x1,5 31 15 12 22 22
7440-12SM-1 12 M 18x1,5 33 17 12 24 24
7440-12SM22-1 12 M22x1,5 33,5 17,5 14 27 24
7440-14SM-1 14 M 20x1,5 37 19 14 27 27
7440-16SM-1 16 M 22x1,5 37 18,5 14 27 30
7440-16SM18-1 16 M 18x1,5 36,5 18 12 27 30
400 7440-20SM-1 20 M 27x2 42 20,5 16 32 36
7440-255M-1 25 M 33x2 47 23 18 41 46
7440-30SM-1 30 M 42x2 50 23,5 20 50 50
315 7440-38SM-1 38 M 48x2 57 26 22 55 60

12-D



8 4

it ypees ]

7450 KoHHeKkTOp, HapyHble pe3bbbl % /
Male Stud Couplings

L2

Pe3bba / Thread:
BSPT (Form C DIN 3852)

part number
m (body only) mm
| bar | om [ F Ll L2 | L ]CHi|CH]
12 10

7450-04LLR-1 4 R 1/8 K 26,5 16 8

L1

7450-06LLR-1 6 R 1/8K 26,5 14,5 8 12 12
7450-08LLR-1 8 R 1/8K 28,5 16,5 8 12 14

B8 100 7450-08LLR04-1 8 R 1/4 K 32 20,5 12 14 14
7450-10LLR-1 10 R 1/4 K 32 20,5 12 14 17
7450-12LLR-1 12 R 1/4 K 32 20 12 17 19
7450-12LLR06-1 12 R 3/8 K 32 20 12 17 19
7450-06LR-1 6 R 1/8K 30 15 8 12 14
7450-06LR04-1 6 R 1/4 K 34,5 20 12 14 14
7450-08LR-1 8 R 1/4 K 35 20 12 17 17
7450-10LR-1 10 R 1/4 K 36 21 12 17 19

315 7450-12LR-1 12 R 3/8 K 36,5 22 12 19 22
7450-12LR04-1 12 R 1/4 K 36,5 22 12 19 22

L 7450-12LR08-1 12 R 12K 38,5 24 14 22 22
7450-15LR-1 15 R 12K 40 25 14 24 27
7450-15LR06-1 15 R 3/8 K 38 23 12 24 27
7450-18LR-1 18 R 12K 42 25,5 14 27 32
7450-22LR-1 22 R 3/4 K 46 29,5 16 32 36

160 7450-28LR-1 28 R1K 49 32,5 18 41 41
7450-35LR-1 35 R11/4K 56 34,5 20 46 50
7450-42LR-1 42 R11/2K 61 38 22 55 60
7450-06SR-1 6 R 1/4 K 38 23 12 17 17
7450-08SR-1 8 R 1/4 K 40 25 12 17 19

630 7450-10SR-1 10 R 3/8 K 40,5 24,5 12 19 22
7450-12SR-1 12 R 3/8 K 42,5 26,5 12 22 24
7450-14SR-1 14 R 12K 48 30 14 24 27
7450-16SR-1 16 R 12K 48 29,5 14 27 30

400 7450-20SR-1 20 R 3/4 K 55 33,5 16 32 36
7450-25SR-1 25 R1K 62 38 18 41 46
7450-30SR-1 30 R11/4K 67 40,5 20 46 50

315 7450-38SR-1 38 R112K 76 45 22 55 60

13-D



£ 1

iypees ]

i

7450 KoHHeKkTOp, HapyHble pe3bbbl % /
Male Stud Couplings

L2

Pe3bba / Thread:
NPT (ANSI/ASME B1,20,1-1983)

part number
(body only) mm

L1

(b | [ wm | F U] &z | s [omom
7450-04LLN-1 4 1/8 NPT 28 18 10 12 10
B8 100 7450-06LLN-1 6 1/8 NPT 28 16,5 10 12 12
7450-08LLN-1 8 1/8 NPT 30 18,5 10 12 14
7450-06LN-1 6 1/8 NPT 31,5 17 10 12 14
7450-08LN-1 8 1/4 NPT 38 23 15 17 17
7450-10LN-1 10 1/4 NPT 39 24 15 17 19
7450-10LN06-1 10 3/8 NPT 40 25 15 19 19
315 7450-12LN-1 12 3/8 NPT 39,5 25 15 19 22
7450-12LN04-1 12 1/4 NPT 39,5 25 15 19 22
7450-12LN08-1 12 1/2 NPT 445 30 19,5 22 22
7450-15LN-1 15 1/2 NPT 46 31 19,5 24 27
7450-18LN-1 18 1/2 NPT 48 31,5 19,5 27 32
7450-22LN-1 22 3/4 NPT 50 33,5 20 32 36
160 7450-28LN-1 28 1 NPT 56 39,5 25 41 41
7450-35LN-1 35 1 1/4 NPT 62 40,5 25,5 46 50
7450-42LN-1 42 11/2 NPT 65 42 26 55 60
315 7450-6LN04-1 6 1/4 NPT 37,5 23 15 14 14
7450-06SN-1 6 1/4 NPT 41 26 15 17 17
7450-08SN-1 8 1/4 NPT 43 28 15 17 19
7450-10SN-1 10 3/8 NPT 43,5 27,5 15 19 22
630 7450-10SN04-1 10 1/4 NPT 44 25,5 13 19 22
7450-12SN-1 12 3/8 NPT 455 29,5 15 22 24
7450-12SN04-1 12 1/4 NPT 46 27,5 13 22 24
7450-12SN08-1 12 1/2 NPT 50,5 34,5 19,5 22 24
7450-14SN-1 14 1/2 NPT 54 36 19,5 24 27
7450-16SN-1 16 1/2 NPT 54 35,5 19,5 27 30
400 7450-20SN-1 20 3/4 NPT 59 37,5 20 32 36
7450-25SN-1 25 1 NPT 69 45 25 41 46
7450-30SN-1 30 1 1/4 NPT 73 46,5 25,5 46 50
315 7450-38SN-1 38 1 1/2 NPT 80 49 26 55 60
Pe3bb6a / Thread:

Metric Taper (Form C DIN 3852)

part number
ﬂ (body only) m

[ | mm [ M || L2 [ L3 | CHi[CH|
4 10

7450-04LLM-1 M 8x1 K 26,5 16 8 12
B8 100 7450-06LLM-1 6 M10x1 K 26,5 14,5 8 12 12
7450-08LLM-1 8 M 10x1 K 28,5 16,5 8 12 14

14-D



it ypres |/} STy T fiH MM

7460 KoHHekTOp BKpy4nBaemblit 90°, HapyxHble pe3bbbl

O

H1

Stud Elbows

—

L1

Pe3b6a / Thread:
BSPT (Form C DIN 3852)

part number
(body only)

F

F
17 8 11 9 10

4 R 1/8 K 21
6 R 1/8K 17 8 21 9,5 9 12
8 R 1/8K 20 8 23 11,5 12 14

15

~ N N N NN
B L
[=2] o O O O O
3 33888
N = a0 O O
N N © © & »
r o e Y e
pol rCcCcrcr
d 2P IID

SIS ESS S

1 22
7460-28LR-1 28 R1K 48 18 47 30,5 36 41
7460-35LR-1 35 R11/4K 54 20 56 34,5 41 50
7460-42LR-1 42 R112K 61 22 63 40 50 60

7460-16SR-1 16 R 12K 32 14 43 24,5 24 30
400 7460-20SR-1 20 R 3/4 K 42 16 48 26,5 27 36
7460-25SR-1 25 R1K 48 18 54 30 36 46

7460-30SR-1 30 R11/4K 54 20 62 35,5 41 50

L2
0
I
[N

Fluid Power Care

IMM Group



7460 KoHHekTOp Bkpy4unBaembin 90°, HapyxHble pe3bbbl

Stud Elbows

Pe3bba / Thread:

NPT (ANSI/ASME B1,20,1-1983)

part number
(body only)

7460-04LLN-1
&8 100 7460-06LLN-1
7460-08LLN-1

7460-06LN-1
7460-08LN-1
7460-10LN-1
7460-12LN-1
7460-12LN04-1
7460-12LN08-1
7460-15LN-1
7460-18LN-1
7460-22LN-1
7460-28LN-1
7460-35LN-1
7460-42LN-1
7460-06SN-1
7460-08SN-1
630 7460-10SN-1
7460-12SN-1
7460-14SN-1
7460-16SN-1
7460-20SN-1
7460-25SN-1
7460-30SN-1
315 7460-38SN-1

315

160

400

Pe3bba / Thread:

part number
(body only)

7460-04LLM-1
E8 100 7460-06LLM-1
7460-08LLM-1

7460-06LM-1
7460-08LM-1
. 315 7460-10LM-1
7460-12LM-1
7460-15LM-1
7460-18LM-1

7460-06SM-1
7460-08SM-1
630 7460-10SM-1
7460-12SM-1
7460-14SM-1
400 7460-16SM-1

| bar | ]

4
6
8
6
8

10
12

16

25
30
38

Metric Taper (Form C DIN 3852)

oma] oot

u
[ bar | | om | F_ | L] L]
1

F
1/8 NPT
1/8 NPT
1/8 NPT
1/8 NPT
1/4 NPT
1/4 NPT
3/8 NPT
1/4 NPT
1/2 NPT
1/2 NPT
1/2 NPT
3/4 NPT
1 NPT
1 1/4 NPT
11/2 NPT
1/4 NPT
1/4 NPT
3/8 NPT
3/8 NPT
1/2 NPT
1/2 NPT
3/4 NPT
1 NPT
1 1/4 NPT
1 1/2 NPT

CH1

17 8 21 11 9 10
17 8 21 9,5 9 12
20 8 23 11,5 12 14
20 10 27 12 12 14
26 15 29 14 12 17
27 15 30 15 14 19
28 15 32 17 17 22
28 15 32 17 17 22
34 195 35 20 19 22
34 195 36 21 19 27
36 195 40 23,5 24 32
42 20 44 27,5 27 36
48 25 47 305 36 41
57 255 56 34,5 41 50
61 26 63 40 50 60
26 15 31 16 12 17
27 15 32 17 14 19
28 15 34 17,5 17 22
28 15 38 21,5 17 24
34 195 40 22 19 27
36 195 43 24,5 24 30
42 20 48 26,5 27 36
48 25 54 30 36 46
54 255 62 35,5 41 50
61 26 72 41 50 60

4 M 8x1 K 17 8
6 M 10x1 K 17 8
8 M 10x1 K 20 8
6 M 10x1 K 20 8
8 M12x1,56K 26 12
0 M 14x1,6 K 27 12
12 M 16x1,56 K 28 12
15 M18x1,6 K 32 12
18 M22x1,56K 36 14
6 M12x1,6 K 26 12
8 M14x1,56K 27 12
10 M 16x1,5 K 28 12
12 M 18x1,56 K 28 12
14 M20x1,56 K 32 14
16 M22x1,56 K 32 14

21
23
27
29
30
32
36
40
31
32
34
38
40
43

9,5
11,5
12

17,5
21,5
22
24,5

9
12

12

2
21 11 9 10




7470 KoHHekTop BKpy4YnBaembi 90°, HapyHE

Stud Elbows

Pe3bba / Thread:
BSPP (Form B DIN 3852)

part number

(body only)

7470-22LR-1
160 7470-28LR-1
7470-35LR-1
7470-42LR-1
7470-20SR-1
400 7470-25SR-1
7470-30SR-1

315 7470-38SR-1

e

Pe3bba / Thread:
Metric (Form B DIN 3852)

7470-22LM-1
160 7470-28LM-1
7470-35LM-1
7470-42LM-1
7470-20SM-1
400 7470-25SM-1
7470-30SM-1

315 7470-38SM-1

e

22
28
35
42
20
25
30
38

G 3/4
G1
G11/4
G112
G 3/4
G1
G11/4
G112

part number
(body only) m

| om ] F L] s ] e [ CHilCHo

M 26x1,5
M 33x2
M 42x2
M 48x2
M 27x2
M 33x2
M 42x2
M 48x2

435 15
49 17
57 19
64 20

435 15
49 17
57 19
64 20

435 15
49 17
57 19
64 20

435 15
49 17
57 19
64 20

44
47
56
63
48
54
62
72

44
47
56
63
48
54
62
72

L

CHI—\

L2

27,5
30,5
34,5
40
26,5
30
35,5
41

27,5
30,5
34,5
40
26,5
30
35,5
41

27
36
41
50
27
36
41
50

27
36
41
50
27
36
41
50

_-__

41
50
60
36
46
50
60

41
50
60
36
46
50
60




mHypress I

7600 BkpyuumBaeMmbin perynmpyembiu L
L1

TPYyOHbIV aganTtep 90°: BSPP cH o \

Adjustable male stud elbows with flare- — i .
wascher thread: BSP parallel

-

L2
9 i
(]

L3

O-Rin

D2
Pe3bba / Thread:

BSPP (1SO 1179-3)

part number | tube
(body only) | @d1

IS B - 8 S A 1 2 e

7600-06LR-1 G1/8 148 21 7 14 8x1,88
7600-08LR-1 8 G1/4 19,8 29 14 25 9 12 19 17  10,77x2,62
200 7600-10LR-1 10 G1/4 198 30 15 25 9 14 19 19 10,77x2,62
7600-12LR-1 12 G3/8 228 32 17 29 9 17 22 22 13,94x2,62

L 7600-15LR-1 15 G122 278 36 21 31 13 19 30 27 17x3,00

7600-18LR-1 18 G1/2 278 40 235 36 13 24 30 32 17x3,00

7600-22LR-1 22 G3/4 328 44 275 37 13 27 36 36 23,5x3,00
7600-28LR-1 28 G1 408 47 30,5 44 15 36 41 41 29,2x3,00
7600-35LR-1 35 G11/4 50,8 56 345 52 15 41 50 50 37,69x3,53
7600-42LR-1 42 G11/2 558 63 40 52 15 50 55 60 44,04x3,53
7600-06SR-1 6 G1/4 198 31 16 25 9 12 19 17 10,77x2,62
7600-08SR-1 8 G1/4 198 32 17 27 9 14 19 19 10,77x2,62
7600-10SR-1 10 G3/8 228 34 175 29 9 17 22 22 13,94x2,62
200 7600-12SR-1 12 G3/8 228 38 21,5 29 9 17 22 24 13,94x2,62
7600-16SR-1 16 G172 278 43 245 36 13 24 30 30 17x3,00

7600-20SR-1 20 G3/4 328 48 265 39 13 27 36 36 235x3,00
7600-25SR-1 25 G1 408 54 30 44 15 36 41 46 29,2x3,00
7600-30SR-1 30 G11/4 50,8 62 355 52 15 41 50 50 37,69x3,53
7600-38SR-1 38 G11/2 558 72 41 54 15 50 55 60 44,04x3,53

160

160

* - OnanasoH TeMmnepatypbl 6€3 CHKEHNsI [AaBMNEHUs], NP KOHHEKTOPaX C YNIOTHUTENbHLIM KOMbLOM 13
NBR (cTtangapTtHo) n FPM (nopg 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): oT -25° o
+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to
order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

18-D



i ypress I

7600 BkpyuumBaeMmbin perynmpyembiu L

TpyOHbIM aganTtep 90°: meTpuka CH 1 L \

Adjustable male stud elbows with flare- | L .
wascher thread: Metric parallel )

O

L2
9 :
()

L3

O-Rin

Pe3b6a / Thread:
Metric parallel

part number | tube
(body only) | @d1

|| F_]D2] - _

7600-06LM-1 6 M10x1 14,8 21,5 14 8x1,8
315 7600-08LM-1 8 M12x1,5 17,8 29 14 23,5 95 12 17 17 9,3x2,2
7600-10LM-1 10 M14x1,5 19,8 30 15 265 95 14 19 19 113x22
7600-12LM-1 12 M16x1,5 21,8 32 17 275 10 17 22 22 133x22
L 250 7600-15LM-1 15 M18x1,5 23,8 36 21 29 105 19 24 27 15,54x2,62
7600-18LM-1 18 M22x1,5 27,8 40 235 35 11 24 271 32 19x2,65
7600-22LM-1 22 M27x2 328 44 27,5 385 135 27 32 36 2347x2,95
160 7600-28LM-1 28 M33x2 39,8 47 30,5 41,5 135 36 41 41  29,4x3.1
7600-35LM-1 35 M42x2 498 56 34,5 50,5 135 41 50 50 38x3,5
7600-42LM-1 42 M48x2 558 63 40 515 15 50 55 60 40,04x3,53
7600-06SM-1 6 M12x1,5 17,8 31 16 235 95 12 17 17 9,3x2,2
315 7600-08SM-1 8 M14x1,5 19,8 32 17 265 95 14 19 19 113x22
7600-10SM-1 10 M16x1,5 21,8 34 175 27,5 11 17 22 22 13.3x2.2
7600-12SM-1 12 M18x1,5 23,8 38 21,5 30 12 17 24 24 15,54x2,62
250 7600-16SM-1 16 M22x1,5 27,8 43 245 37 13 24 27 30 19x2,65
7600-20SM-1 20 M27x2 328 48 265 415 16 27 32 36 2347x2,95
7600-25SM-1 25 M33x2 398 54 30 455 16 36 41 46  29,4x3.1
160 7600-30SM-1 30 M42x2 498 62 355 53,5 165 41 50 50 38x3,5
7600-38SM-1 38 M48x2 558 72 41 565 19 50 55 60 44,04x3,53

* - OnanasoH TeMnepatypbl 6€3 CHWKEHNsI fAaBMNeHNs], NP KOHHEKTOPaX C YNIOTHUTENbHLIM KOMbLOM 13
NBR (cTtangapTtHo) n FPM (nog 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): oT -25° o
+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to
order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

19-D



bty ]

V| immm

7600 Bkpy4dvBaemblii perynmpyemsii
TPYOHbI TPONHUK, HU: UNF

Adjustable male stud elbows with flare-
wascher thread: UNF

Pe3bba / Thread:
UNF/UN (ISO 11926-1)

part number | tube
(body only) | @d1

CHI1

L2

L3

O-Rin

D2

|| F ] D2] -_

315 7600-06LU 1 6 7/16-20 16,5 20
7600-08LU-1 8 7/16-20 16,5 29 14 20
7600-10LU-1 10 9/16-18 20,2 30 15 25

250 7600-12LU06-1 12 9M16-18 20,2 32 17 25
7600-12LU-1 12 3/416 257 32 17 27
7600-15LU08-1 15 3/4-16 257 36 21 27
7600-15LU-1 15 7/8-14 293 36 21 33

200 7600-18LU10-1 18 7/8-14 29,3 40 235 33
7600-18LU-1 18 1.1/16-12 36,7 40 235 36

160 7600-22LU-1 22 1.1/16-12 36,7 44 27,5 36
7600-28LU-1 28 1.5/16-12 44,0 47 30,5 42

125 7600-35LU-1 35 1.5/8-12 55,0 56 34,5 48
7600-42LU-1 42 1.7/8-12 62,3 63 40 49
7600-06SU-1 6 7/16-20 16,5 31 16 22
7600-08SU-1 8 9M16-18 202 32 17 25

400 7600-10SU-1 10 9/16-18 20,2 34 175 26
7600-12SU-1 12 3/4-16 257 38 215 30
7600-16SU-1 16 7/8-14 293 43 245 35
7600-20SU-1 20 1.1/16-12 36,7 48 26,5 39

315 7600-25SU-1 25 1.5/16-12 44,0 54 30 44

250 7600-30SU-1 30 1.5/8-12 55,0 62 355 51

200 7600-38SU-1 38 1.7/8-12 62,3 72 41 54

10
11
11
13
13
15
15
17
17
17
17
17
11
12
12
14
16
18,5
18,5
18,5
18,5

12
14
17
17
19
24
24
27
27
36
41
50
12
14
17
17
24
27
36
41
50

14
17
17
22
22
27
27
32
32
41
50
55
14
17
17
22
27
32
41
50
55

14
17
19
22
22
27
27
32
32
36
41
50
60
17
19
22
24
30
36
46
50
60

9,17x1,83

9,17x1,83

11,89x1,98
11,89x1,98
16,36x2,21
16,36x2,21
19,18x2,46
19,18x2,46
23,47x2,95
23,47x2,95
29,74x2,95
37,47x3,00
43,69x3,00
9,17x1,83

11,89x1,98
11,89x1,98
16,36x2,21
19,18x2,46
23,47x2,95
29,74x2,95
37,47x3,00
43,69x3,00

* - OnanasoH TeMnepatypbl 6€3 CHKEHNsI fAaBMNEHNs], NP KOHHEKTOpPaX C YNIOTHUTENbHBIM KOMbLOM 13
NBR (cTtangapTHo) n FPM (nopg 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): ot -25° go

+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to

order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

20-D



mHypress [}

7605 BkpyyumBaeMmbin perynmpyembiu L
TPYOHbI aganTtep 90°: MmeTpuka CH 1 L] JR— \
i
=
Adjustable male stud elbows with flare- — . '
wascher thread: Metric parallel ' |_ —
s .).,,1'. A
o i
CH3
9

Pe3bba / Thread:
Metric (DIN ISO 6149-1)

part number | tube
(body only) | @d1

| par | | mm] [ D2 [ L[ L1

7605-06LM-1 6 M10x1 145 27 12 215 85 12 14 14 8,1x1,6

315 7605-08LM-1 8 M12x1,5 17,56 29 14 235 11 12 17 17 9,3x2,2
7605-10LM-1 10 M14x1,5 19,56 30 15 26,5 11 14 19 19 113x22
7605-12LM-1 12 M16x1,5 22,5 32 17 275 11,6 17 22 22 133x22

L 250 7605-15LM-1 15 M18x1,5 245 36 21 29 125 19 24 27 153x22
7605-18LM-1 18 M22x1,5 27,5 40 235 35 13 24 27 32 193x22
7605-22LM-1 22 M27x2 325 44 275 385 16 27 32 36 236x29

160 7605-28LM-1 28 M33x2 415 47 30,5 415 16 36 41 41  296x29
7605-35LM-1 35 M42x2 505 56 34,5 505 16 41 50 50 386x29
7605-42LM-1 42 M48x2 555 63 40 515 175 50 55 60 44,6x29
7605-06SM-1 6 M12x1,5 17,56 31 16 235 11 12 17 17 9,3x2,2
7605-08SM-1 8 M14x1,5 19,56 32 17 265 11 14 19 19 11,3x22

400 7605-10SM-1 10 M16x1,5 22,5 34 175 275 125 17 22 22 133x22
7605-12SM-1 12 M18x1,5 24,5 38 21,5 30 14 17 24 24 153x2,2
7605-16SM-1 16 M22x1,5 27,5 43 245 37 15 24 27 30 193x22
7605-20SM-1 20 M27x2 325 48 26,5 415 185 27 32 36 23,6x29

315 7605-25SM-1 25 M33x2 415 54 30 455 185 36 41 46  29,6x29
250 7605-30SM-1 30 M42x2 505 62 355 535 19 41 50 50 386x29
200 7605-38SM-1 38 M48x2 555 72 41 565 215 50 55 60 44,6x29

* - Onana3soH TeMmnepatypbl 6€3 CHKEHNsI OAaBMNEHNs], NPU KOHHEKTOpPaX C YNIOTHUTENbHLIM KOMbLOM 13
NBR (cTtangapTtHo) n FPM (nopg 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): oT -25° o
+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to
order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

21-D



£ 1

it ypees ]

7480 TpOWHWUK BKpyYMBaEMbIN, HAPYXHE

Stud Branch Tees

Pe3bba / Thread:
BSPT (Form C DIN 3852)

7480-04LLR-1
&8 100 7480-06LLR-1
7480-08LLR-1

7480-06LR-1
7480-08LR-1

315 7480-10LR-1
7480-12LR-1

L 7480-15LR-1
7480-18LR-1
7480-22LR-1

160 7480-28LR-1
7480-35LR-1
7480-42LR-1

7480-06SR-1
7480-08SR-1
630 7480-10SR-1
7480-12SR-1
7480-14SR-1
7480-16SR-1
400 7480-20SR-1
7480-25SR-1
7480-30SR-1
315 7480-38SR-1

Pe3bba / Thread:

Metric Taper (Form C DIN 3852)

part number
ﬂ (body only) m

[ bar | | om | F_ | L] L]
1

7480-04LLM-1
E8 100 7480-06LLM-1
7480-08LLM-1

7480-06LM-1
7480-08LM-1
1 315 7480-10LM-1
7480-12LM-1
7480-15LM-1
7480-18LM-1
7480-06SM-1
7480-08SM-1
7480-10SM-1
7480-12SM-1

7480-14SM-1
7480-16SM-1

630
400

part number
(body only) m

| e | | om ] F [ L

L1

L4 [

-

4 R 1/8 K

6 R 1/8 K 17 8
8 R 1/8K 20 8
6 R 1/8 K 20 8
8 R 1/4 K 26 12
10 R 1/4 K 27 12
12 R 3/8 K 28 12
15 R 12K 34 14
18 R 12K 36 14
22 R 3/4 K 42 16
28 R1K 48 18
35 R11/4K 54 20
42 R11/2K 61 22
6 R 1/4 K 26 12
8 R 1/4 K 27 12
10 R 3/8 K 28 12
12 R 3/8 K 28 12
14 R 12K 32 14
16 R 12K 32 14
20 R 3/4 K 42 16
25 R1K 48 18
30 R11/4K 54 20
38 R112K 61 22

m

4 M 8x1 K 17 8
6 M 10x1 K 17 8
8 M 10x1 K 20 8
6 M 10x1 K 20 8
8 M12x1,56K 26 12
0 M 14x1,56 K 27 12
12 M 16x1,56 K 28 12
15 M 18x1,6 K 32 12
18 M22x1,56K 36 14
6 M12x1,56K 26 12
8 M 14x1,56 K 27 12
10 M 16x1,56 K 28 12
12 M18x1,6 K 28 12
14 M20x1,56 K 32 14
16 M22x1,56 K 32 14

21
23
27
29
30
32
36
40
44
47
56
63
31
32
34
38
40
43
48
54
62
72

21
23
27
29
30
32
36
40
31
32
34
38
40
43

9,5
11,5
12
14
15
17
21
23,5
27,5
30,5
34,5
40
16
17
17,5
21,5
22
24,5
26,5
30
35,5
41

9,5
11,5
12
14
15
17
21
23,5
16
17
17,5
21,5
22
24,5

9
12
12
12
14
17
19
24
27
36
41
50
12
14
17
17
19
24
27
36
41
50

9
12
12
12
14
17
19
24
12
14
17
17
19
24

12
14
14
17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

12
14
14
17
19
22
27
32
17
19
22
24
27
30

L
17 8 21 11 9 10

2
21 11 9 10

22-D



ik ypress I

7480 TpOWMHWK BKPYYMBaAEMbI, HAPYXHE i RIS,
Stud Branch Tees ).‘.‘.‘::.‘:::'_ .

M'ni..i'.l'.\.“

L1

Pe3bba / Thread:
NPT (ANSI/ASME B1,20,1-1983)

part number
(body only) m

_-__

7480-04LLN-1 4 1/8 NPT 21
5 100 7480-06LLN-1 6 1/8 NPT 17 8 21 9,5 9 12
7480-08LLN-1 8 1/8 NPT 20 8 23 11,5 12 14
7480-06LN-1 6 1/8 NPT 20 10 27 12 12 14
7480-08LN-1 8 1/4 NPT 26 15 29 14 12 17
315 7480-10LN-1 10 1/4 NPT 27 15 30 15 14 19
7480-12LN-1 12 3/8 NPT 28 15 32 17 17 22
L 7480-15LN-1 15 1/2 NPT 34 195 36 21 19 27
7480-18LN-1 18 1/2 NPT 36 195 40 23,5 24 32
7480-22LN-1 22 3/4 NPT 42 20 44 27,5 27 36
160 7480-28LN-1 28 1 NPT 48 25 47 30,5 36 41
7480-35LN-1 35 11/4 NPT 57 255 56 34,5 41 50
7480-42LN-1 42 11/2 NPT 61 26 63 40 50 60
7480-06SN-1 6 1/4 NPT 26 15 31 16 12 17
7480-08SN-1 8 1/4 NPT 27 15 32 17 14 19
630 7480-10SN-1 10 3/8 NPT 28 15 34 17,5 17 22
7480-12SN-1 12 3/8 NPT 28 15 38 21,5 17 24
7480-14SN-1 14 1/2 NPT 34 195 40 22 19 27
7480-16SN-1 16 1/2 NPT 36 195 43 24,5 24 30
400 7480-20SN-1 20 3/4 NPT 42 20 48 26,5 27 36
7480-25SN-1 25 1 NPT 48 25 54 630 36 46
7480-30SN-1 30 11/4 NPT 57 255 62 35,5 41 50
315 7480-38SN-1 38 11/2 NPT 61 26 72 41 50 60

23-D



7490 TpOWMHUK BKPYYMBAEMBbIN, HAPYXHbIE PE

Stud Branch Tees

Pe3bba / Thread:
BSPP (Form B DIN 3852)

7490-22LR-1
160 7490-28LR-1
7490-35LR-1
7490-42LR-1
7490-20SR-1
400 7490-25SR-1
7490-30SR-1

315 7490-38SR-1

e

Pe3bba / Thread:
Metric (Form B DIN 3852)

7490-22LM-1
160 7490-28LM-1
7490-35LM-1
7490-42LM-1
7490-20SM-1
400 7490-25SM-1
7490-30SM-1

315 7490-38SM-1

e

22
28
35
42
20
25
30
38

22
28
35
42
20
25
30
38

part number
(body only) m

| om ] F L] s ] e [ CHilCH

G 3/4
G1
G11/4
G11/2
G 3/4
G1
G11/4
G11/2

part number
(body only)

| om ] P L] s ] e [ CHil CHo

M 26x1,5
M 33x2
M 42x2
M 48x2
M 27x2
M 33x2
M 42x2
M 48x2

435 15
49 17
57 19
64 20

435 15
49 17
57 19
64 20

435 15
49 17
57 19
64 20

435 15
49 17
57 19
64 20

L1

44
47
56
63
48
54
62
72

44
47
56
63
48
54
62
72

27,5
30,5
34,5
40
26,5
30
35,5
441

27,5
30,5
34,5
40
26,5
30
35,5
441

27
36
41
50
27
36
41
50

27
36
41
50
27
36
41
50

41
50
60
36
46
50
60

41
50
60
36
46
50
60

24-D



MHypress [}

7620 BkpyuuBaemblin perynumpyembin . L L

TPYOHbIN TPONHUK, HUXKHEE ‘ L1
noknoveHue: BSPP {

Adjustable male stud branch tees with flare-
wascher thread: BSP parallel

i

ol

L2
9 ¢
” (
R
i

N CH?2
,;,

! { \.O-Ring
/

D2
Pe3bba / Thread:

BSPP (1SO 1179-3)

part number | tube
(body only) | @d1

-- --_

7620-06LR-1 G1/8 148 21 14 8x1,88
7620-08LR- 8 G1/4 198 29 14 25 9 12 19 17 10,77x2,62
200 7620-10LR-1 10 G1/4 19,8 30 15 25 9 14 19 19 10,77x2,62
7620-12LR-1 12 G3/8 228 32 17 29 9 17 22 22 1394x2,62
. 7620-15LR-1 15 G122 27,8 36 21 31 13 19 30 27  17x3,00
7620-18LR-1 18 G1/2 27,8 40 235 36 13 24 30 32  17x3,00
7620-22LR-1 22 G3/4 328 44 275 37 13 27 36 36 235x3,00
160 T620-28LR-1 28 G1 40,8 47 305 44 15 36 41 41 29.2x3,00
7620-35LR-1 35 G11/4 508 56 345 52 15 41 50 50 37,69x3,53
7620-42LR-1 42 G11/2 558 63 40 52 15 50 55 60 44,04x3,53
7620-06SR-1 6 G14 198 31 16 25 9 12 19 17 1077x262
7620-08SR-1 8 G14 198 32 17 27 9 14 19 19 1077x262
7620-10SR-1 10 G3/8 228 34 17,5 29 9 17 22 22 1394x2,62
200 7620-12SR-1 12 G3/8 228 38 215 29 9 17 22 24 1394x2,62
7620-16SR-1 16 G122 27,8 43 245 36 13 24 30 30 17x3,00
7620-20SR-1 20 G3/4 328 48 265 39 13 27 36 36 235x3,00
7620-25SR-1 25 G1 40,8 54 30 44 15 36 41 46  29,2x3,00
160 T620-30SR-1 30 G11/4 508 62 355 52 15 41 50 50 37,69x3,53
7620-38SR-1 38 G112 558 72 41 54 15 50 55 60 44,04x3,53

* - OnanasoH TeMmnepatypbl 6€3 CHKEHNsI OAaBMNEHNs], NP KOHHEKTOpPaX C YNIOTHUTENbHLIM KOMbLOM 13
NBR (cTtangapTtHo) n FPM (nog 3akas): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): ot -25° o
+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to
order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

« CHI ,- .
| I|'-! ‘\ r T~

25-D



7620 BkpyuumBaeMmbin perynmpyembiu

TPYOHbIA TPONHUK, HUXKHEE

noknodveHne: UNF

Adjustable male stud branch tees with
flare-wascher thread: UNF

Pe3bba / Thread:
UNF/UN (ISO 11926-1)

part number | tube
(body only) | @d1

| par | | mm]

315 7620-06LU-1 6
7620-08LU-1 8
7620-10LU-1 10

250 7620-12LU06-1 12
7620-12LU-1 12
7620-15LU08-1 15

L 7620-15LU-1 15
200 7620-18LU10-1 18
7620-18LU-1 18

160 7620-22LU-1 22
7620-28LU-1 28

125 7620-35LU-1 35
7620-42LU-1 42
7620-06SU-1 6
7620-08SU-1 8

400 7620-10SU-1 10
7620-12SU-1 12
7620-16SU-1 16
7620-20SU-1 20

315 7620-25SU-1 25
250 7620-30SU-1 30
200 7620-38SU-1 38

7/16-20
7/16-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.7/8-12
7/16-20
9/16-18
9/16-18
3/4-16
7/8-14
1.1/16-12
1.5/16-12
1.5/8-12
1.7/8-12

16,5
16,5
20,2
20,2
25,7
25,7
29,3
29,3
36,7
36,7
44,0
55,0
62,3
16,5
20,2
20,2
25,7
29,3
36,7
44,0
55,0
62,3

27 12 20 10 12 14
29 14 20 10 12 14
30 15 25 11 14 17
32 17 25 11 17 17
32 17 27 13 17 22
36 21 27 13 19 22
36 21 383 15 24 27
40 235 33 15 24 27
40 235 36 17 27 32
44 275 36 17 27 32
47 305 42 17 36 41
56 345 48 17 41 50
63 40 49 17 50 55
31 16 22 11 12 14
32 17 25 12 14 17
34 175 26 12 17 17
38 215 30 14 17 22
43 245 35 16 24 27
48 265 39 185 27 32
54 30 44 185 36 41
62 355 51 185 41 50
72 41 54 185 50 55

L2

L3

|

14
17
19
22
22
27
27
32
32
36
41
50
60
17
19
22
24
30
36
46
50
60

9,17x1,83

9,17x1,83

11,89x1,98
11,89x1,98
16,36x2,21
16,36x2,21
19,18x2,46
19,18x2,46
23,47x2,95
23,47x2,95
29,74x2,95
37,47x3,00
43,69x3,00
9,17x1,83

11,89x1,98
11,89x1,98
16,36x2,21
19,18x2,46
23,47x2,95
29,74x2,95
37,47x3,00
43,69x3,00

| ]'.Ijil:; il

ll _

* - OnanasoH TeMnepatypbl 6€3 CHKEHNsI fAaBMNEHNs], NP KOHHEKTOpPaX C YNIOTHUTENbHBIM KOMbLOM 13
NBR (cTtangapTHo) n FPM (nopg 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): ot -25° go

+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to

order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

26-D



fiiHypress [|]

LS

L2 —CH 1 ‘

7180 TpoOWHVK BKpyYMBaEMbIW, HAPYXKHbIE pE3E
Stud Barrel Tees

A

L3

Pe3bba / Thread:
BSPT (Form C DIN 3852)

part number
(body only) m

| ]

o
HE

17 8 21 38 9 10

7180-04LLR-1 4 R 1/8 K 11
55 100 7180-06LLR-1 6 R 1/8 K 17 8 21 9,5 38 9 12
7180-08LLR-1 8 R 1/8 K 20 8 23 11,5 43 12 14
7180-06LR-1 6 R 1/8 K 20 8 27 12 47 12 14
7180-08LR-1 8 R 1/4 K 26 12 29 14 55 12 17
315 7180-10LR-1 10 R 1/4 K 27 12 30 15 57 14 19
L 7180-12LR-1 12 R 3/8 K 28 12 32 17 60 17 22
7180-15LR-1 15 R1/2K 34 14 36 21 70 19 27
7180-18LR-1 18 R1/2K 36 14 40 23,5 76 24 32
160 7180-22LR-1 22 R 3/4 K 42 16 44 27,5 86 27 36
7180-28LR-1 28 R 1K 48 18 47 30,5 95 36 41
7180-06SR-1 6 R 1/4 K 26 12 31 16 57 12 17
630 7180-08SR-1 8 R 1/4 K 27 12 32 17 59 14 19
7180-10SR-1 10 R 3/8 K 28 12 34 17,5 62 17 22
7180-12SR-1 12 R 3/8 K 28 12 38 21,5 66 17 24
7180-16SR-1 16 R1/2K 32 14 43 24,5 75 24 30
400 7180-20SR-1 20 R 3/4 K 42 16 48 26,5 90 27 36
7180-25SR-1 25 R1K 48 18 54 30 102 36 46
7180-30SR-1 30 R11/4 K 54 20 62 355 116 41 50

Pe3bb6a / Thread:

Metric Taper (Form C DIN 3852)

part number
(body only) m

a ] | om [ F | L] o] Ls ] Le | Ls | CHi] CHol
21 38 9 10
1

b

7180-04LLM-1 M 8x1 K 17 8 11

&8 100 7180-06LLM-1

7180-08LLM-1

m
4

6 M 10x1 K 17 8 21 9,5 38 9 12
8 M 10x1 K 20 8 23 11,5 43 12 14
6
8

7180-06LM-1 M 10x1 K 20 8 27 12 47 12 14
7180-08LM-1 M12x1,6 K 26 12 29 14 55 12 17
T 315 7180-10LM-1 0 M14x1,6 K 27 12 30 15 57 14 19
7180-12LM-1 12 M16x1,56K 28 12 32 17 60 17 22
7180-15LM-1 15 M 18x1,6 K 32 12 36 21 70 19 27
7180-18LM-1 18 M22x1,6K 36 14 40 235 76 24 32

27-D



7190 TpoOWHWUK BKpYyYMBaAEMbIN, HAPYXHbIE Pt

Stud Barrel Tees

Pe3bba / Thread:
BSPP (Form B DIN 3852)

bar | | wm | F | U [ o] 5| | s [omi o
7190-22LR-1 22 G 3/4 43,5 15 44 27,5 875 27 36
T 160 7190-28LR-1 28 G1 49 17 47 30,5 96 36 41
7190-35LR-1 35 G11/4 57 19 56 345 113 41 50
7190-42LR-1 42 G11/2 64 20 63 40 127 50 60
400 7190-20SR-1 20 G 3/4 43,5 15 48 26,5 91,5 27 36
7190-25SR-1 25 G1 49 17 54 30 103 36 46
250 7190-30SR-1 30 G11/4 57 19 62 355 119 41 50
7190-38SR-1 38 G11/2 64 20 72 41 136 50 60

Pe3bb6a / Thread:

Metric (Form B DIN 3852)

part number
(body only)

part number
ﬂ (body only)

L3

— [ F ool ololo oo

7190-22LM-1 22 M 26x1,5 43,5 15 44 275 875 27 36

T 160 7190-28LM-1 28 M 33x2 49 17 47 30,5 96 36 41
7190-35LM-1 35 M 42x2 57 19 56 34,5 113 41 50
7190-42LM-1 42 M 48x2 64 20 63 40 127 50 60
7190-20SM-1 20 M 27x2 43,5 15 48 26,5 915 27 36

400 7190-25SM-1 25 M 33x2 49 17 54 30 103 36 46
7190-30SM-1 30 M 42x2 57 19 62 355 119 41 50

315 7190-38SM-1 38 M 48x2 64 20 72 41 136 50 60

28-D




7610 Bkpy4dnBaemblii perynmpyemsii
TPYOHbIN TPONHMK, BOKOBOE

noknwuyeHue: BSPP
Adjustable male stud run tees with flare-

wascher thread: BSP parallel

Pe3bba / Thread:
BSPP (ISO 1179-3)

part number | tube
(body only) | @d1

IR N - 8 S A K 2 e

7610-06LR-1 G1/8 14,8 21 7 14 8x1,88
7610-08LR-1 8 G1/4 198 29 14 25 9 12 19 17 10,77x2,62
200 7610-10LR-1 10 G1/4 19,8 30 15 25 9 14 19 19 10,77x2,62
7610-12LR-1 12 G3/8 228 32 17 29 9 17 22 22 1394x2,62

. 7610-15LR-1 15 G122 27,8 36 21 31 13 19 30 27  17x3,00
7610-18LR-1 18 G1/2 27,8 40 235 36 13 24 30 32  17x3,00
7610-22LR-1 22 G3/4 328 44 275 37 13 27 36 36 235x3,00
160 TE10-28LR-1 28 G1 40,8 47 305 44 15 36 41 41 29.2x3,00
7610-35LR-1 35 G11/4 508 56 345 52 15 41 50 50 37,69x3,53
7610-42LR-1 42 G11/2 558 63 40 52 15 50 55 60 44,04x3,53
7610-06SR-1 6 G14 198 31 16 25 9 12 19 17 1077x262
7610-08SR-1 8 G14 198 32 17 27 9 14 19 19 1077x262
7610-10SR-1 10 G3/8 228 34 17,5 29 9 17 22 22 1394x2,62
200 7610-12SR-1 12 G3/8 228 38 215 29 9 17 22 24 1394x2,62
7610-16SR-1 16 G122 27,8 43 245 36 13 24 30 30 17x3,00
7610-20SR-1 20 G3/4 328 48 265 39 13 27 36 36 235x3,00
7610-25SR-1 25 G1 40,8 54 30 44 15 36 41 46  29,2x3,00
160 T610-30SR-1 30 G11/4 508 62 355 52 15 41 50 50 37,69x3,53
7610-38SR-1 38 G112 558 72 41 54 15 50 55 60 44,04x3,53

* - OnanasoH TeMmnepatypbl 6€3 CHKEHNsI [AaBMNEHUs], NP KOHHEKTOPaX C YNIOTHUTENbHLIM KOMbLOM 13
NBR (cTtangapTtHo) n FPM (nopg 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): oT -25° o
+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to
order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

29-D



T —

:,',’ MM

7610 BkpyuuBaembln perynupyembin
TPYOHbIA TPONHUK, BOKOBOE

noknunueHue: LINF )
Adjustable male stud run tees with flare-

wascher thread: UNF

Pe3bba / Thread:
UNF/UN (ISO 11926-1)

part number | tube
(body only) | @d1

-- -_

315 7610 06LU-1 7/16-20 16,5
7610-08LU-1 8 7/16-20 16,5 29
7610-10LU-1 10 9/16-18 20,2 30

250 7610-12LU06-1 12 9/16-18 20,2 32

7610-12LU-1 12 3/4-16 257 32
7610-15LU08-1 15 3/4-16 257 36
7610-15LU-1 15  7/8-14 29,3 36
200 7610-18LU10-1 18  7/8-14 29,3 40
7610-18LU-1 18 1.1/16-12 36,7 40
7610-22LU-1 22 1.1/16-12 36,7 44

160 7610-28LU-1 28 1.5/16-12 44,0 47
125 7610-35LU-1 35 1.5/8-12 55,0 56
7610-42LU-1 42 1.7/8-12 62,3 63
7610-06SU-1 6 7/16-20 16,5 31
7610-08SU-1 8 9/16-18 20,2 32
400 7610-10SU-1 10 9/16-18 20,2 34

7610-12SU-1 12 3/4-16 25,7 38
7610-16SU-1 16 7/8-14 29,3 43
7610-20SU-1 20 1.1/16-12 36,7 48
315 7610-25SU-1 25 1.5/16-12 44,0 54
250 7610-30SU-1 30 1.5/8-12 55,0 62
200 7610-38SU-1 38 1.7/8-12 62,3 72

14
15
17
17
21
21
23,5
23,5
27,5
30,5
34,5
40
16
17
17,5
21,5
24,5
26,5
30
35,5
41

20
20
25
25
27
27
33
33
36
36
42
48
49
22
25
26
30
35
39
44
51
54

10
11
11
13
13
15
15
17
17
17
17
17
11
12
12
14
16
18,5
18,5
18,5
18,5

12
14
17
17
19
24
24
27
27
36
41
50
12
14
17
17
24
27
36
41
50

14
17
17
22
22
27
27
32
32
41
50
55
14
17
17
22
27
32
41
50
55

14
17
19
22
22
27
27
32
32
36
41
50
60
17
19
22
24
30
36
46
50
60

9,17x1,83

9,17x1,83

11,89x1,98
11,89x1,98
16,36x2,21
16,36x2,21
19,18x2,46
19,18x2,46
23,47x2,95
23,47x2,95
29,74x2,95
37,47x3,00
43,69x3,00
9,17x1,83

11,89x1,98
11,89x1,98
16,36x2,21
19,18x2,46
23,47x2,95
29,74x2,95
37,47x3,00
43,69x3,00

* - OnanasoH TeMnepatypbl 6€3 CHKEHNsI fAaBMNEHNs], NP KOHHEKTOpPaX C YNIOTHUTENbHBIM KOMbLOM 13
NBR (cTtangapTHo) n FPM (nopg 3akas): NBR(Perbunan): ot -35° no +100°C - FPM (Viton): ot -25° go

+120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to

order): NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

30-D



L e owzsssadapiors—JUTET0)

7500 KOHHeKTOp coeauHUTENbHbIN, MPSIMON
Straight couplings

) o
L iml
L yll

part number
(body only)

7500-04LL-1
7500-06LL-1
7500-08LL-1
7500-10LL-1
7500-12LL-1

7500-22L-1
7500-28L-1 28 54 21 41 50
7500-35L-1 35 63 20 46 60
7500-42L-1

7500-16S-1
7500-20S-1 20 66 23 32 36
7500-25S-1 25 74 26 41 46
7500-30S-1

Fluid Power Care 31-D

IMM Group



mHypress [

7510 KoHHEKTOp coeanHUTENbHbIN, peay
Reduced Straight couplings

™~
jel
L2
L1
bodyony) [“a [ a ]
—--—
7510-06/04LL-1 6 4 32 10,5
55 100 7510-08/04LL-1 8 4 34 12,5 12 14 10
7510-08/06LL-1 8 6 34 11 12 14 12
7510-08/06L-1 8 6 40,5 1 14 17 14
7510-10/06L-1 10 6 41,5 12 17 19 14
7510-10/08L-1 10 8 42 12 17 19 17
7510-12/06L-1 12 6 42 13 19 22 14
7510-12/08L-1 12 8 42,5 13 19 22 17
5 7510-12/10L-1 12 10 43,5 14 19 22 19
7510-15/10L-1 15 10 45 15 24 27 19
7510-15/12L-1 15 12 445 15 24 27 22
7510-18/10L-1 18 10 47 15,5 27 32 19
7510-18/12L-1 18 12 46,5 15,5 27 32 22
7510-18/15L-1 18 15 48 16,5 27 32 27
7510-22/12L-1 22 12 48,5 17,5 32 36 22
7510-22/15L-1 22 15 50 18,5 32 36 27
7510-22/18L-1 22 18 51 18 32 36 32
0 7510-28/18L-1 28 18 52 19 41 41 32
7510-28/22L-1 28 22 54 21 41 41 36
7510-35/22L-1 35 22 59 21 46 50 36
7510-35/28L-1 35 28 59 21 46 50 41
7510-08/06S-1 8 6 48 18 17 19 17
7510-10/06S-1 10 6 48,5 17,5 19 22 17
7510-10/08S-1 10 8 48,5 17,5 19 22 19
751 0-12/06S-1 12 6 50,5 19,5 22 24 17
751 0-12/08S-1 12 8 50,5 19,5 22 24 19
7510-12/10S-1 12 10 51 19 22 24 22
7510-14/10S-1 14 10 54,5 20,5 24 27 22
7510-14/12S-1 14 12 54,5 20,5 24 27 24
7510-16/12S-1 16 12 54,5 20 27 30 24
7510-16/14S-1 16 14 58 21,5 27 30 27
7510-20/10S-1 20 10 59,5 22 32 36 22
7510-20/12S-1 20 12 59,5 22 332 36 24
0 7510-20/16S-1 20 16 63 23 32 36 30
7510-25/16S-1 25 16 68 25,5 41 46 30
7510-25/20S-1 25 20 71 25,5 41 46 36
7510-30/20S-1 30 20 74 26 46 50 36
7510-30/25S-1 30 25 77 26,5 46 50 46
315 7510-38/30S-1 38 30 87 29,5 55 60 50

32-D



L e owzsssadapiors—JUTET0)

. /—CH2
7520 KoHHekTOp coeauHUTEnbHbIN 90° et ‘S
Equal Elbows . 1
""" e -'-'-'-'.;.'_}""“'(
B o

\\
L

part number
(body ony) | 7P -m

7520-04LL-1 4 21 11 10 9
7520-06LL-1 6 21 9,5 12 9
7520-08LL-1 8 21 11 9 10
7520-10LL-1 10 21 9,5 9 12

7520-12LL-1

1
1 28
1 35
1

N N NN
a a a a
Y
S o o o
A b RN
NG o N
15 ' | '

7520-16S-1
7520-20S-1 20 48 26,5 27 36
7520-255-1 25 54 30 36 46
7520-30S-1

Fluid Power Care 33-D IMM Group



L e owzsssadapiors—JUTET0)

7000 TpOWHUK COeANHUTESbHbIN

Equal Tees

L1

-m
(body only)
_-____
7000-04LL-1 21 1 9 10
7000-06LL-1 6 21 9,5 9 12

458 100 7000-08LL-1 8 23 11,5 12 14
7000-10LL-1 10 27 15 14 17
7000-12LL-1

7000-16S-1

7000-208-1 20 20 48 26,5 27
7000 25S-1 25 25 54 30 36
7000-30S-1 62 35,5 41

Fluid Power Care 34-D

IMM Group



L e owzsssadapiors—JUTET0)

7010 KoHHeKTOp coeguHUTENbHbIA X-06pasHl  cH
Equal Crosses

Ll

bar

7010-04LL-1
458 100 7010-06LL-1
7010-08LL-1

part number
(body only)

L

24,5
7010-20S-1 20 48 26,5 27 36
7010-25S-1 25 54 30 36 46
35,5 41 50

H 7010-30S-1 30 62
315 7ot038s4 38 72 41 50 60

60
00

1
4

Fluid Power Care 35-D IMM Group



i ypress [

7020 lMpsmoe nepebopoyvHOE COeaMHEHI
Straight Bulkhead Union

part number
(body only) m

_-_

7020-06L-1 M 12x1,5
7020-08L-1 8 M 14x1,5 23 8 42 27 1 9 17 1 9
315 7020-10L-1 10 M 16x1,5 25 10 43 28 22 19 22
7020-12L-1 12 M 18x1,5 25 10 44 29 24 22 24
L 7020-15L-1 15 M 22x1,5 27 12 46 31 27 27 30
7020-18L-1 18 M 26x1,5 30 135 49 325 32 32 36
7020-22L-1 22 M 30x2 33 165 51 345 36 36 41
160 7020-28L-1 28 M 36x2 35 185 52 355 M 41 46
7020-35L-1 35 M 45x2 40 185 58 36,5 50 50 55
7020-42L-1 42 M 52x2 42 19 59 36 60 60 65
7020-06S-1 6 M 14x1,5 27 12 44 29 19 17 19
7020-08S-1 8 M 16x1,5 28 13 44 29 22 19 22
630 7020-10S-1 10 M 18x1,5 31 145 46 295 24 22 24
7020-12S-1 12 M 20x1,5 31 14,5 47 305 27 24 27
7020-14S-1 14 M 22x1,5 35 17 50 32 30 27 30
7020-16S-1 16 M 24x1,5 3% 165 50 315 32 30 32
400 7020-20S-1 20 M 30x2 39 175 55 335 M 36 41
7020-25S-1 25 M 36x2 44 20 59 35 46 46 46
7020-30S-1 30 M 42x2 48 215 64 375 50 50 50
315 7020-38S-1 38 M 52x2 53 22 68 30 65 60 65

36-D



it ypress ]

7130 TlepebopoyHbin agantep 90°
Bulkhead 90° Elbow Union

part number

(body only)
T N N
7130-06L-1 6
7130-08L-1 8
315 7130-10L-1 10
7130-12L-1 12
L 7130-15L-1 15
7130-18L-1 18
7130-22L-1 22
160 7130-28L-1 28
7130-35L-1 35
7130-42L-1 42
7130-06S-1 6
7130-08S-1 8
630 7130-10S-1 10
7130-12S-1 12
7130-14S-1 14
7130-16S-1 16
400 7130-20S-1 20
7130-25S-1 25
7130-30S-1 30
315 7130-38S-1 38

M 12x1,5
M 14x1,5
M 16x1,5
M 18x1,5
M 22x1,5
M 26x1,5
M 30x2
M 36x2
M 45x2
M 52x2
M 14x1,5
M 16x1,5
M 18x1,5
M 20x1,5
M 22x1,5
M 24x1,5
M 30x2
M 36x2
M 42x2
M 52x2

L2

P

CH3

| L | Lo ] s | 0P [ CHif CHz | CHs |
42 14 27 17 12 14 17

42 17
43 18
44 20
46 23
49 24
51 30
52 34
58 39
59 43
44 17
44 18
46 20
47 21
50 23
50 24
55 30
59 34
64 39
68 43

27
28
29
31
32,5
34,5
35,5
36,5
36
29
29
29,5
30,5
32
31,5
33,5
35
37,5
37

19
22
24
27
32
36
42
50
60
19
22
24
27
27
30
36
42
50
60

12
14
17
19
24
27
36
41
50
12
14
17
17
19
24
27
36
41
50

17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

19
22
24
30
36
41
46
55
65
19
22
24
27
30
32
41
46
50
65

37-D



iMHypress [}

LI
/]

MM,

7360 BkpyumBaembii TpyOHbIN aganTtep ¢ NOCago4YHbIM U YNNOTHUTENBHBIM KOSbLIOM
Stud/Standpipe Adaptors Packing ring/ O.Ring Seai

Pe3bba / Thread:
BSPP (Form E DIN 3852)

m

315

160

630

400

315

_--_

7360-06LR
7360-08LR
7360-10LR
7360-12LR
7360-15LR
7360-18LR
7360-22LR
7360-28LR
7360-35LR
7360-42LR
7360-06SR
7360-08SR
7360-10SR
7360-12SR
7360-14SR
7360-16SR
7360-20SR
7360-25SR
7360-30SR
7360-38SR

6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

24,5
29,5
27,5
34
32
31,5
32,5
35
42,5
46,5
27
29,5
32
34
36,5
37
43
48
51
60

1/8"
1/4"
1/4"
3/8"
12"
1/2"
3/4"
1
1" 1/4
1"1/2
1/4"
1/4"
3/8"
3/8"
172"
1/2"
3/4"
1
1" 1/4
1"1/2

12
12
12
14
14
16
18
20
22
12
12
12
12
14
14
16
18
20
22

19
19
22
27
27
32
41
50
55
19
19
22
22
27
27
32
41
50
55

Guarnizione

Gom

ma

19
19
22
27
27
32
40
50
55
19
19
22
22
27
27
32
40
50
55

¢dl
Fl

-

oL
-

Y

12x1,5
14x1,5
16x1,5
18x1,5
22x1,5
26x1,5
30x2
36x2
45x2
52x2
14x1,5
16x1,5
18x1,5
20x1,5
22x1,5
24x1,5
30x2
36x2
42x2
52x2

14
17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

4x1,5
6x1,5
7,5x1,5
9x1,5
12x2
15x2
20x2
26x2
32x2,5
38x2,5
4x1,5
6x1,5
7,5x1,5
9x1,5
10x2
12x2
16,3x2,4
20,3x2,4
25,3x2,4
33,3x2,4

* - Inana3oH TeMmnepatypbl 6€3 CHMXEeHWUsI JAaBNEHUS], NPY KOHHEKTOpPaXx C YMMOTHUTENbHbIM KonbLom n3 NBR
(ctanpgapTtHo) n FPM (nog 3aka3): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): o1 -25° go +120°C

- Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to order):
NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

38-D



iiiHypress [} Jl immm

7360 BkpyumBaembii TpyOHbIN aganTtep ¢ NOCago4YHbIM U YNNOTHUTENBHBIM KOSbLIOM
Stud/Standpipe Adaptors Packing ring/ O.Ring Seai

Guarnizione / —CHI
Gomma : : :

@di
Fl

oL
o
Y

Pe3bba / Thread: L1
Metric (Form E DIN 3852)

m

_--_

7360-06LM 24,5 10x1 8 12x1,5 14 4x1,5
7360-08LM 8 26,5 12x1,5 12 17 17 14x15 17 6x1,5
315 7360-10LM 10 27,5 14x1,5 12 19 19 16x1,5 19 7,5x1,5
7360-12LM 12 30,5 16x1,5 12 22 22 18x15 22 9x1,5
L 7360-15LM 15 31,5 18x1,5 12 24 24 22x15 27 12x2
7360-18LM 18 31,5 22x1,5 14 27 27 26x15 32 15x2
7360-22LM 22 32,5 26x1,5 16 32 32 30x2 36 20x2
160 7360-28LM 28 35 33x2 18 41 40 36x2 41 26x2
7360-35LM 35 42,5 42x2 20 50 50 45x2 50 32x2,5
7360-42LM 42 46,5 48x2 22 55 55 52x2 60 38x2,5
7360-06SM 6 27 12x1,5 12 17 17 14x15 17 4x1,5
7360-08SM 8 29,5 14x1,5 12 19 19 16x1,5 19 6x1,5
630 7360-10SM 10 32 16x1,5 12 22 22 18x15 22 7,5x1,5
7360-12SM 12 34 18x1,5 12 24 24 20x1,5 24 9x1,5
7360-14SM 14 36,5 20x1,5 14 27 26 22x15 27 10x2
7360-16SM 16 37 22x1,5 14 27 27 24x1,5 30 12x2
400 7360-20SM 20 43 27x2 16 32 32 30x2 36 16,3x2,4
7360-25SM 25 48 33x2 18 41 40 36x2 46 20,3x2,4
7360-30SM 30 51 42x2 20 50 50 42x2 50 25,3x2,4
315 7360-38SM 38 60 48x2 22 55 55 52x2 60 33,3x2,4

* - Inana3oH TeMmnepatypbl 6€3 CHMXEeHWUsI JAaBNEHUS], NPY KOHHEKTOpPaXx C YMMOTHUTENbHbIM KonbLom n3 NBR
(ctanpgapTtHo) n FPM (nog 3aka3): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): o1 -25° go +120°C

- Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to order):
NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

39-D



V,J.V '

iMHypress [}

M rmimm

7370 Apantep TpybHbIN COeaMHUTENbHbIN C

YMJIOTHUTEJIbHbIM KOJIbLIOM, L

Standpipe/Tube Reducers 'L' Series with O.Ring Seai

part number
(body only)

/
O.Ring— L1

L2

| bar __

7370-08/06L-1
7370-10/06L-1
7370-10/08L-1
7370-12/06L-1
7370-12/08L-1
7370-12/10L-1
7370-15/06L-1
315 7370-15/08L-1
7370-15/10L-1
7370-15/12L-1
7370-18/06L-1
7370-18/08L-1
7370-18/10L-1
7370-18/12L-1
7370-18/15L-1
7370-22/06L-1
7370-22/08L-1
7370-22/10L-1
7370-22/12L-1
7370-22/15L-1
7370-22/18L-1
7370-28/06L-1

L 7370-28/08L-1
7370-28/10L-1
7370-28/12L-1
7370-28/15L-1
7370-28/18L-1
7370-28/22L-1
7370-35/06L-1
7370-35/08L-1
7370-35/10L-1
7370-35/12L-1
7370-35/15L-1
7370-35/18L-1
7370-35/22L-1
7370-35/28L-1
7370-42/06L-1
7370-42/08L-1
7370-42/10L-1
7370-42/12L-1
7370-42/15L-1
7370-42/18L-1
7370-42/22L-1
7370-42/28L-1
7370-42/35L-1

160

- [vana3oH TemnepaTtypbl 6e3 CHWXEHUs OaBneHus, npu
KOHHEKTOpaxCc ynnoTHUTENbHbIM KonbLom 3 NBR (cTtaHgapTHO)
n FPM (nop 3akas): NBR(Perbunan): ot -35° go +100°C - FPM

(Viton): ot -25° go +120°C

1 0
10
12
12
12
15
15
15
15
18
18
18
18
18
22
22
22
22
22
22
28
28
28
28
28
28
28
35
35
35
35
35
35
35
35
42
42
42
42
42
42
42
42
42

6

® O N o PO ®O O

NN = a2 a NN = a2 a N = a2 a - A A - A
XN ®OANO PP HEN©®aAaNMO PO ®PoaNmo ®O e o

35

23,5
25,0
25,0
25,0
25,0
26,0
28,5
28,5
29,5
29,5
28,0
28,0
29,0
29,0
30,0
32,0
32,0
33,0
33,0
34,0
33,5
34,0
34,0
35,0
35,0
36,0
36,5
37,5
37,0
37,0
38,0
38,0
39,0
38,5
40,5
40,5
40,5
40,5
415
415
425
42,0
44,0
44,0
43,0

40
40
40
40
41
43
43
44
44
43
43
44
44
45
47
47
48
48
49
50
49
49
50
50
51
52
54
52
52
53
53
54
55
57
57
55
55
56
56
58
58
60
61
65

14
17
14
17
19
14
17
19
22
14
17
19
22
27
14
17
19
22
27
32
14
17
19
22
27
32
36
14
17
19
22
27
32
36
41
14
17
19
22
27
32
36
41
50

1 9
19
22
22
22
27
27
27
27
32
32
32
32
32
36
36
36
36
36
36
41
41
41
41
41
41
41
50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60
60

14x1,5
16x1,5
16x1,5
18x1,5
18x1,5
18x1,5
22x1,5
22x1,5
22x1,5
22x1,5
26x1,5
26x1,5
26x1,5
26x1,5
26x1,5
30x2
30x2
30x2
30x2
30x2
30x2
36x2
36x2
36x2
36x2
36x2
36x2
36x2
45x2
45x2
45x2
45x2
45x2
45x2
45x2
45x2
52x2
52x2
52x2
52x2
52x2
52x2
52x2
52x2
52x2

12
14
14
17
17
17
19
19
19
19
24
24
24
24
24
27
27
27
27
27
27
32
32
32
32
32
32
32
41
41
41
41
41
41
41
41
50
50
50
50
50
50
50
50
50

6x1,5
7,5x1,5
7,5x1,5
9x1,5
9x1,5
9x1,5
12x2
12x2
12x2
12x2
15x2
15x2
15x2
15x2
15x2
20x2
20x2
20x2
20x2
20x2
20x2
26x2
26x2
26x2
26x2
26x2
26x2
26x2
32x2,5
32x2,5
32x2,5
32x2,5
32x2,5
32x2,5
32x2,5
32x2,5
38x2,5
38x2,5
38x2,5
38x2,5
38x2,5
38x2,5
38x2,5
38x2,5
38x2,5

- Temperature range without pressure reductions with

connections fitted with O.Ring in NBR (standard) and FPM
(to order): NBR(Perbunan): from -35° to +100°C - FPM
(Viton): from -25° to +120°C

40-D



V,J.V '

iMHypress [}

M rmimm

7370 Apantep TpybOHbIN COeaNHUTENBHbIN C

YMJIOTHUTEJIbHbIM KOJIbLIOM, S

Standpipe/Tube Reducers 'S’ Series with O.Ring Seali

part number
(body only)

/
O.Ring— L1

L2

| bar __

7370-08/06S -1
7370-10/06S -1
7370-10/08S -1
7370-12/06S -1
7370-12/08S -1
7370-12/10S -1
7370-14/06S -1
7370-14/08S -1
7370-14/10S -1
7370-14/12S 1
7370-16/06S -1
7370-16/08S -1
7370-16/10S -1
7370-16/12S -1
7370-16/14S -1
7370-20/06S -1
7370-20/08S -1
7370-20/10S -1
7370-20/12S -1
7370-20/14S 1
7370-20/16S -1
7370-25/06S -1
7370-25/08S -1
7370-25/10S -1
7370-25/12S -1
7370-25/14S 1
7370-25/16S -1
7370-25/20S -1
7370-30/06S-1
7370-30/08S -1
7370-30/10S -1
7370-30/12S -1
7370-30/14S -1
7370-30/16S -1
7370-30/20S -1
7370-30/25S -1
7370-38/06S-1
7370-38/08S-1
7370-38/10S-1
7370-38/12S 1
315 7370-38/14S-1
7370-38/16S -1
7370-38/20S -1
7370-38/25S -1
7370-38/30S -1

630

400

- [vana3oH TemnepaTtypbl 6e3 CHWXEHUs OaBneHus, npu
KOHHEKTOpaxCc ynnoTHUTENbHbIM KonbLom 3 NBR (cTtaHgapTHO)
n FPM (nop 3akas): NBR(Perbunan): ot -35° go +100°C - FPM

(Viton): ot -25° go +120°C

10
10
12
12
12
14
14
14
14

38

6

®OH o PO ®O O

NN =2 A a NN =2 A a N = =2 a - A A - A
oo bR NOPP2900r VMO P20 brNO®Pe51rN0MO *®3R N O

30

27,0
27,5
27,5
29,0
29,0
29,5
31,5
31,5
31,0
31,0
32,0
32,0
31,5
31,5
33,0
36,0
36,0
35,5
35,5
37,0
36,5
38,5
38,5
38,0
38,0
39,5
39,0
39,0
44,0
44,0
435
435
45,0
445
445
45,0
475
475
47,0
47,0
48,5
48,0
48,0
48,5
49,0

42
42
44
44
46
46
46
47
47
47
47
48
48
51
51
51
52
52
55
55
53
53
54
54
57
57
61
59
59
60
60
63
63
66
69
62
62
63
63
66
66
70
73
76

17
19
17
19
22
17
19
22
24
17
19
22
24
27
17
19
22
24
27
30
17
19
22
24
27
30
36
17
19
22
24
27
30
36
46
17
19
22
24
27
30
36
46
50

22
22
24
24
24
27
27
27
27
30
30
30
30
30
36
36
36
36
36
36
46
46
46
46
46
46
46
50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60
60

16x1,5
18x1,5
18x1,5
20x1,5
20x1,5
20x1,5
22x1,5
22x1,5
22x1,5
22x1,5
24x1,5
24x1,5
24x1,5
24x1,5
24x1,5
30x2
30x2
30x2
30x2
30x2
30x2
36x2
36x2
36x2
36x2
36x2
36x2
36x2
42x2
42x2
42x2
42x2
42x2
42x2
42x2
42x2
52x2
52x2
52x2
52x2
52x2
52x2
52x2
52x2
52x2

14
17
17
17
17
19
19
19
19
22
22
22
22
22
24
27
27
27
27
27
27
32
32
32
32
32
32
32
41
41
41
41
41
41
41
41
50
50
50
50
50
50
50
50
50

6x1,5
7,5x1,5
7,5x1,5
9x1,5
9x1,5
9x1,5
10x2
10x2
10x2
10x2
12x2
12x2
12x2
12x2
12x2
16,3x2,4
16,3x2,4
16,3x2,4
16,3x2,4
16,3x2,4
16,3x2,4
20,3x2,4
20,3x2,4
20,3x2,4
20,3x2,4
20,3x2,4
20,3x2,4
20,3x2,4
25,3x2,4
25,3x2,4
25,3x2,4
25,3x2,4
25,3x2,4
25,3x2,4
25,3x2,4
25,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4
33,3x2,4

- Temperature range without pressure reductions with

connections fitted with O.Ring in NBR (standard) and FPM

(to order): NBR(Perbunan): from -35° to +100°C - FPM
(Viton): from -25° to +120°C

41-D



miHypress []

| imimm.

7380 TMMpsamMoit coeauHUTENbHBIN aganTep C YNNOTHUTENbHLIMU KOMbLaMu

Straight coupling with O.Ring

| bar [ | |

7380-06L 6
7380-08L 8

515 7380-10L 10
7380-12L 12

L 738045L 15
7380-18L 18
7380-22L 22

160 7380-28L 28
7380-35L 35
7380-42L 42
7380-06S 6
7380-08S 8

630 7380-108 10
7380-128 12
7380-14S 1
7380-16S 16
400 7380208 20
7380-258 25
7380-308 30

315 7380-38S 38

L 2| s {CHi | mm [ |
3 35 14 415
34 35 17 x5
6 37 19 75x15
6 37 22 915
39 40 27 122

405 415 32 15x2
45 46 36 2002
47 48 M 2602
53 56 50  32x25
53 57 60  38x25
37 38 17 415
37 38 19 6x15
M 43 2 7515
42 44 24 95
45 48 27 102
46 49 30 12x2
55 59 36  16,3x24
58 65 46 20,3x24
62 71 50  253x24
67 8 60  333x24

* - InanasoH TeMnepatypbl 6€3 CHMXEHWUsI 4AaBNEHUS, NPY KOHHEKTOpPaXx C YMMOTHUTENbHbIM KonbLom n3 NBR
(ctanpgapTtHo) n FPM (nog 3aka3): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): ot -25° go +120°C

* - Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to order):

NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

42 -D



£ 1

ik ypress I

LI
| 1]

MM,

7170 BkpyymBaeMblvi TPyOHbIM aganTep
Stud /Standpipe Adaptors

Pe3bba / Thread:

BSPP (Form E DIN 3852)

Pe3bba / Thread:

part number

o
Q
—

7170-06LM
7170-08LM
7170-10LM
7170-12LM
7170-15LM
7170-18LM
7170-22LM
7170-28LM
7170-35LM
7170-42LM
7170-06SM
7170-08SM
630 7170-10SM
7170-12SM
7170-14SM
7170-16SM
7170-20SM
7170-25SM
7170-30SM
315 7170-38SM

w
=
(8]

160

400

TR

Metric (Form E DIN 3852)

L

-

7170-06LR 6 G1/8 M12x1,5 245 8 14
7170-08LR 8 G1/4 M14x1,6 295 12 19

315 7170-10LR 10 G1/4 M16x1,5 275 12 19
7170-12LR 12 G 3/8 M 18x1,5 34 12 22

L 7170-15LR 15 G1/2 M 22x1,5 32 14 27
7170-18LR 18 G1/2 M26x1,5 315 14 27
7170-22LR 22 G 3/4 M 30x2 325 16 32

160 7170-28LR 28 G1 M 36x2 35 18 41
7170-35LR 35 G11/4 M 45x2 425 20 50
7170-42LR 42 G112 M 52x2 46,5 22 55
7170-06SR 6 G1/4 M 14x1,5 27 12 19
7170-08SR 8 G1/4 M16x1,5 295 12 19

630 7170-10SR 10 G 3/8 M 18x1,5 32 12 22
7170-12SR 12 G 3/8 M 20x1,5 34 12 22
7170-14SR 14 G1/2 M22x1,56 36,5 14 27
7170-16SR 16 G1/2 M 24x1,5 37 14 27

400 7170-20SR 20 G 3/4 M 30x2 43 16 32
7170-25SR 25 G1 M 36x2 48 18 41
7170-30SR 30 G11/4 M 42x2 51 20 50

315 7170-38SR 38 G11/2 M 52x2 60 22 55

CHI1
part RmBer “m

bar ] | mm |G ] _F [ L | L2]CHi]CHo]
14

Lo | M | F | L ]| L2 ] CHif CHo
6 14

8
10
12
15
18
22
28
35
42

6

8
10
12
14
16
20
25
30
38

M 10x1 M12x1,6 245 8 14
M 12x1,5 M14x1,56 26,5 12 17
M 14x1,5 M16x1,6 275 12 19
M 16x1,5 M18x1,56 30,5 12 22
M 18x1,5 M22x1,6 315 12 24
M 22x1,5 M26x1,56 315 14 27
M 26x1,5 M 30x2 325 16 32
M 33x2 M 36x2 35 18 41
M 42x2 M 45x2 425 20 50
M 48x2 M 52x2 46,5 22 55
M 12x1,5 M 14x1,5 27 12 17
M 14x1,5 M16x1,56 29,5 12 19
M 16x1,5 M 18x1,5 32 12 22
M 18x1,5 M 20x1,5 34 12 24
M 20x1,5 M22x1,56 36,5 14 27
M 22x1,5 M 24x1,5 37 14 27
M 27x2 M 30x2 43 16 32
M 33x2 M 36x2 48 18 41
M 42x2 M 42x2 51 20 50
M 48x2 M 52x2 60 22 55

17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

N
\—CH 2

43-D



MM,

7530 BkpyymBaeMblvi TPyOHbIM aganTep

L1

Stud /Standpipe Adaptors I

w

Pe3bba / Thread:
NPT (ANSI/ASME B1,20,1-1983)

7530-06LN 1/8 NPT M 12x1,5 33 10
7530-08LN 8 1/4 NPT M14x1,6 425 15
1 315 7530-10LN 10 1/4 NPT M16x1,5 40,5 15
7530-12LN 12 3/8 NPT M18x1,56 46,5 15
7530-15LN 15 1/2 NPT M22x1,56 485 19,5
7530-18LN 18 1/2 NPT M 26x1,5 48 19,5
7530-06SN 6 1/4 NPT M 14x1,5 40 15
630 7530-10SN 10 3/8 NPT M18x1,5 445 15
7530-12SN 12 3/8 NPT M20x1,5 46,5 15
7530-14SN 14 1/2 NPT M 22x1,5 53 19,5
400 7530-16SN 16 1/2 NPT M24x1,56 535 19,5

lm//d Dhawy

CH1 [

14
14
19
22
22
14
19
19
22
22

17
19
22
27
32
17
22
24
27
30

-—--—

CH2

44 -D



L e owzsssasepios )[R0

B
7210 KoHHekTOop TPYOHbIN peayKUMOHHbIN L L i
Standpipe/Tube Reducers - (L series) T4 R

CH1

L

bodyony) [ A | B
IR A ) I R

7210 06/04LL-1 6 34,5 23
LL 100 7210-08/04LL-1 8 4 35 23,5 11
7210-08/06LL-1

7210-08/06L-1

6

7210-10/08L-1 10 8 42,0 27 17
7210-12/06L-1 12 6 42 27,0 14
7210-12/08L-1 12 8 42,0 27 17
7210-12/10L-1 12 10 43 28,0 17
7210-15/06L-1 15 6 41,5 27 17
7210-15/08L-1 15 8 42 27,0 17
7210-15/10L-1 15 10 43,0 28 17
7210-15/12L-1 15 12 44 29,0 19
7210-18/06L-1 18 44,0 30 19
7210-18/08L-1 18 45 29,5 19
7210-18/10L-1 18 10 45,5 31 19
7210-18/12L-1 18 12 45 30,5 19
7210-18/15L-1 18 15 46,5 32 24
20220801
022081 22
ozl 22
022
ozamsLe 22
ozmeL1 22

. |—_-
20280l 28
202821 28
2028HsLA 28
202seL1 28
202821 28
2035061 35
203508L1 35
2038HOL1 35
2038 35
203SLA 35
2038MELA 35
203221 38
20382801 35
oot 42
oz 42
oS 42
modeLe 42
oz 42
2oz 42
0aassLe 42

Fluid Power Care 45-D IMM Group



mHypress [

7210 KoHHeKkTop TPYOHbIN pefyKUMOHHbIN S
Standpipe/Tube Reducers - (S series)

CHI1

A

part number
(body only)

7210-08/06S -1 6
7210-10/06S -1 10 6 46,5 31 ,5 17
7210-10/08S -1 10 8 49 34 17
7210-12/06S -1 12 6 46,0 31,0 17
7210-12/08S -1 12 8 48 33 17
7210-12/10S -1 12 10 48,5 32,5 19
7210-14/06S -1 14 6 50 85) 17
630 7210-14/08S -1 14 8 50,0 35,0 17
7210-14/10S -1 14 10 51 35 19
7210-14/12S -1 14 12 52,5 36,5 22
7210-16/06S -1 16 6 51 36 17
7210-16/08S -1 16 8 51,0 36,0 17
7210-16/10S -1 16 10 52 36 19
7210-16/12S -1 16 12 53,5 37,5 22
7210-16/14S -1 16 14 57 39 24
7210-20/06S -1 20 6 56,5 41,5 22
7210-20/08S -1 20 8 57 42 22
400 7210-20/10S -1 20 10 57,0 41,0 22
7210-20/12S -1 20 12 57 41 22
7210-20/14S -1 20 14 60,5 42,5 24
7210-20/16S -1 20 16 61 42 27
7210-25/06S -1 25 6 59,0 44,0 27
7210-25/08S -1 25 8 59 44 27
7210-25/10S -1 25 10 59,5 43,5 27
7210-25/12S -1 25 12 60 44 27
7210-25/14S -1 25 14 63,0 45,0 27
7210-25/16S -1 25 16 63 45 27
400 7210-25/20S -1 25 20 68,0 46,5 32
7210-30/06S -1 30 6 64 49 32
7210-30/08S -1 30 8 63,5 48,5 32
7210-30/10S -1 30 10 64 48 32
7210-30/12S -1 30 12 64,0 48,0 32
7210-30/14S -1 30 14 68 50 32
7210-30/16S -1 30 16 67,5 49,0 32
7210-30/20S -1 30 20 71 49 32
7210-30/25S -1 30 25 75,5 51,5 41
7210-38/06S -1 38 6 70 55 41
7210-38/08S -1 38 8 69,5 54,5 41
7210-38/10S -1 38 10 70 54 41
7210-38/12S -1 38 12 70,0 54,0 41
315 7210-38/14S -1 38 14 74 56 41
7210-38/16S -1 38 16 73,5 55,0 41
7210-38/20S -1 38 20 77 55 41
7210-38/25S -1 38 25 79,5 55,5 41
7210-38/30S -1 38 30 83 56 46

46-D



miHypress []

7140 KoHHekTOp coeguHuTenbHbin 90° ¢ rankon
Angular rotary fitting

part number
bopyonyy [Owe| wrws | omensens

bar ] | mm | F ] L] L] s | CH CHa

7140-06L-1 6 M 12x1,5 27 12 26 12 14
7140-08L-1 8 M 14x1,5 29 14 27 12 17

315 7140-10L-1 10 M 16x1,5 30 15 28,5 14 19
7140-12L-1 12 M 18x1,5 32 17 29 17 22

L 7140-15L-1 15 M 22x1,5 36 21 32 19 27
7140-18L-1 18 M 26x1,5 40 235 35 24 32
7140-22L-1 22 M 30x2 44 27,5 38 27 36

160 7140-28L-1 28 M 36x2 47 30,5 415 36 41
7140-35L-1 35 M 45x2 56 345 51 41 50
7140-42L1 42 M 52x2 63 40 56 50 60
7140-06S-1 6 M 14x1,5 31 16 27 12 17
7140-08S-1 8 M 16x1,5 32 17 27 14 19

630 7140-10S-1 10 M 18x1,5 34 175 29,5 17 22
7140-12S-1 12 M 20x1,5 38 215 305 17 24
7140-14S-1 14 M 22x1,5 40 22 345 19 27
7140-16S-1 16 M 24x1,5 43 245 36 24 30

400 7140-20S-1 20 M 30x2 48 26,5 44 27 36
7140-25S-1 25 M 36x2 54 30 495 36 46
7140-30S-1 30 M 42x2 62 355 55 41 50

315 7140-38S-1 38 M 52x2 72 41 63 50 60

= perynmpyembiin KOHHEKTOP 3aKa3blBAeTCsl AOMONHUTENBHO.
' Mpumep kopa:: 7090-06LR (BSPP) - 7090-06LM (Metrico)

- swivel elbows are available on request.
Example code: 7090-06LR (BSPP) - 7090-06L M (Metric)

47 -D



.4 ?Yj :wm ," ':

1/, vb“

M rmimm

7330 KoHHekTOp coeamHuTenbHbIN 90°, raika ¢ ynrioTHUTENbHbIM KONbLOM
Angular rotary fitting with O.Ring Seal

part number
ﬂ (body only)

_-_

7330-06L-1
7330-08L-1
7330-10L-1
7330-12L-1
7330-15L-1
7330-18L-1
7330-22L-1
7330-28L-1
7330-35L-1
7330-42L-1
7330-06S-1
7330-085-1
630 7330-10S-1
7330-12S-1
7330-14S-1
7330-16S-1
7330-20S-1
7330-255-1
7330-30S-1
315 7330-38S-1

315

160

400

8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

29
30
32
36
40
44
47
56
63
31
32
34
38
40
43
48
54
62
72

12,0
14,0
15,0
17,0
21,0
23,5
27,5
30,5
34,5
40,0
16,0
17,0
17,5
21,5
22,0
24,5
26,5
30,0
35,5
41,0

27,5
29
29,5
32,5
35,5
38,5
41,5
51
56
27
27,5
30
31
35
36,5
44,5
50
55
63

12x1,5
14x1,5
16x1,5
18x1,5
22x1,5
26x1,5
30x2
36x2
45x2
52x2
14x1,5
16x1,5
18x1,5
20x1,5
22x1,5
24x1,5
30x2
36x2
42x2
52x2

CH2

17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

L1

12
12
14
17
19
24
27
36
41
50
12
14
17
17
19
24
27
36
41
50

4x1,5
6x1,5
7,5x1,5
9x1,5
12x2
15x2
20x2
26x2
32x2,5
38x2,5
4x1,5
6x1,5
7,5x1,5
9x1,5
10x2
12x2
16,3x2,4
20,3x2,4
25,3x2,4
33,3x2,4

* - Inana3oH TeMmnepatypbl 6€3 CHMXEeHWUsI JAaBNEHUS], NPY KOHHEKTOpPaXx C YMMOTHUTENbHbIM KonbLom n3 NBR
(ctanpgapTtHo) n FPM (nog 3aka3): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): o1 -25° go +120°C

- Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to order):

NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

Mpumep kopa::

Example code:

- swivel elbows with o-ring seal are available on request.
7300-06L R (BSPP) - 7300-06L M (Metric)

- perynupyemble Yyrosiku ¢ yniioTHUTENIbHbIM KOJIbLLOM 3aKa3blBalOTCA OONOJTHUTENIbHO
7300-06LR (BSPP) - 7300-06LM (Metrico)

48 -D



iMHypress [}

7150 TpoWHWK coeauHUTENbHbIN, ranka Hu: CH1 -*—M

Rotary fitting a Tees ( Y
L \—CH 2
F
part number

_-___

L3

7150-06L-1 M 12x1,5 12
7150-08L-1 8 M 14x1,5 29 14 27 12 17
315 7150-10L-1 10 M 16x1,5 30 15 28,5 14 19
7150-12L-1 12 M 18x1,5 32 17 29 17 22
L 7150-15L-1 15 M 22x1,5 36 21 32 19 27
7150-18L-1 18 M 26x1,5 40 235 35 24 32
7150-22L-1 22 M 30x2 44 27,5 38 27 36
160 7150-28L-1 28 M 36x2 47 30,5 415 36 41
7150-35L-1 35 M 45x2 56 345 51 41 50
7150-42L-1 42 M 52x2 63 40 56 50 60
7150-06S-1 6 M 14x1,5 31 16 27 12 17
7150-08S-1 8 M 16x1,5 32 17 27 14 19
630 7150-10S-1 10 M 18x1,5 34 175 29,5 17 22
7150-12S-1 12 M 20x1,5 38 215 305 17 24
7150-14S-1 14 M 22x1,5 40 22 345 19 27
7150-16S-1 16 M 24X1,5 43 245 36 24 30
400 7150-20S-1 20 M 30X2 48 26,5 44 27 36
7150-25S-1 25 M 36X2 54 30 495 36 46
7150-30S-1 30 M 42X2 62 355 55 41 50
315 7150-38S-1 38 M 52X2 72 41 63 50 60

perynupyemblil TPOWHWUK 3aKa3blBaeTCsl AONOMHUTENBHO
Mpumep kopa:: 7100-06LR (BSPP) - 7100-06LM (Metrico)

- swivel branch tees are available on request.
Example code: 7100-06LR (BSPP) - 7100-06LM (Metric)

49-D



7340 TpoWHUK COEAVMHUTENBHBIN, rarka ¢ YNnrnoTHUTENbHbLIM KONbLIOM BHU3Y.
Rotary fitting a Tees with O.Ring Seal

| "'l\l

part number
ﬂ (body only)

_--_

7340-06L-1 12,0 12x1,5 12 4x1,5
7340-08L-1 8 29 14,0 27,5 14x1,5 17 12 6x1,5
315 7340-10L-1 10 30 150 29 16x1,5 19 14 7,5x1,5
7340-12L-1 12 32 17,0 29,5 18x1,5 22 17 9x1,5
L 7340-15L-1 15 36 21,0 325 22x1,5 27 19 12x2
7340-18L-1 18 40 23,5 355 26x1,5 32 24 15x2
7340-22L-1 22 44 275 385 30x2 36 27 20x2
160 7340-28L-1 28 47 30,5 415 36x2 41 36 26x2
7340-35L-1 35 56 345 51 45x2 50 41 32x2,5
7340-42L-1 42 63 40,0 56 52x2 60 50 38x2,5
7340-06S-1 6 31 16,0 27 14x1,5 17 12 4x1,5
7340-08S-1 8 32 17,0 27,5 16x1,5 19 14 6x1,5
630 7340-10S-1 10 34 175 30 1815 22 17 7,5x1,5
7340-12S-1 12 38 215 31 20x1,5 24 17 9x1,5
7340-14S-1 14 40 220 35 22x15 27 19 10x2
7340-16S-1 16 43 245 365 24x1,5 30 24 12x2
400 7340-20S-1 20 48 26,5 445 30x2 36 27 16,3x2,4
7340-25S-1 25 54 30,0 50 36x2 46 36 20,3x2,4
7340-30S-1 30 62 355 55 42x2 50 41 25,3x2,4
315 7340-38S-1 38 72 41,0 63 52x2 60 50 33,3x2,4

* - Inana3oH TeMmnepatypbl 6€3 CHWXEeHWUsI 4AaBNEHUS, NPU KOHHEKTOpPaXx C YMMOTHUTENbHbIM KonbLom n3 NBR
(ctanpgapTtHo) n FPM (nog 3aka3): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): o1 -25° go +120°C

- Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to order):
NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

- perynvpyemMble TPONHWKM C YNIOTHUTENbHBIM KOMNbLOM 3aKa3blBatoTCA 4OMNONHUTENBHO
Mpumep kopa:: 7310-06LR (BSPP) - 7310-06LM (Metrico)

- swivel branch tees with o-ring seal are available on request.
Example code: 7310-06LR (BSPP) - 7310-06L M (Metric)

50-D



miHypress []

7160 TpownHWK coeanHUTENbHbIN, ranka cOoky
Rotary fitting a L

part number

(body only)
| m _
7160-06L-1 6 M 12x1,5 12 26 12
7160-08L-1 8 M 14x1,5 29 14 27 56 12 17
315 7160-10L-1 10 M 16x1,5 30 15 285 585 14 19
7160-12L-1 12 M 18x1,5 32 17 29 61 17 22
L 7160-15L-1 15 M 22x1,5 36 21 32 68 19 27
7160-18L-1 18 M 26x1,5 40 235 35 75 24 32
7160-22L-1 22 M 30x2 4 275 38 82 27 36
160 7160-28L-1 28 M 36x2 47 30,5 415 885 36 41
7160-35L-1 35 M 45x2 56 345 51 107 41 50
7160-42L-1 42 M 52x2 63 40 56 119 50 60
7160-06S-1 6 M 14x1,5 31 16 27 58 12 17
7160-08S-1 8 M 16x1,5 32 17 27 59 14 19
630 7160-10S-1 10 M 18x1,5 34 175 295 635 17 22
7160-12S-1 12 M 20X1,5 38 215 30,5 6885 17 24
7160-14S-1 14 M 22X1,5 40 22 345 745 19 27
7160-16S-1 16 M 24X1,5 43 245 36 79 24 30
400 7160-20S-1 20 M 30X2 48 26,5 44 92 27 36
7160-25S-1 25 M 36X2 54 30 495 1035 36 46
7160-30S-1 30 M 42X2 62 355 55 17 41 50
315 7160-38S-1 38 M 52X2 72 41 63 135 50 60

perynupyemble TPOWHUKKN 3aKa3blBaloTCA AOMOMHUTENBHO
Mpumep kopa:: 7110-06LR (BSPP) - 7110-06LM (Metrico)

3 - swivel barrel tees are available on request.
B Example code: 7110-06LR (BSPP) - 7110-06LM (Metric)

51-D



___DIN.23 NI

IR

.4 ?Yj :wm ," ':

7350 TpoitHUK COEANHUTENBHBIN, raika C ynnoTHATEN 5
Rotary fitting a L with O.Ring Seal 1IN
4k
= CH1
S H _ //_
CH2 St
&
CH1 ] { “’J
,,,,,,,,,, N
0 =
O.Ring
S
DF1

part number
ﬂ (body only)

_--_

7350-06L-1 12,0 12x1,5 12 4x1,5
7350-08L-1 8 29 14,0 27,5 56 14x1,5 17 12 6x1,5
315 7350-10L-1 10 30 150 29 59 16x15 19 14 7,5x1,5
7350-12L-1 12 32 170 295 61 1815 22 17 9x1,5
. 7350-15L-1 15 36 210 325 69 22x15 27 19 12x2
7350-18L-1 18 40 235 355 75 26x15 32 24 15x2
7350-22L-1 22 44 275 385 82 30x2 36 27 20x2
160 7350-28L 28 47 305 415 89 36x2 41 36 26x2
7350-35L-1 35 56 345 51 107 45x2 50 41 32x2,5
7350-42L-1 42 63 400 56 119 52x2 60 50 38x2,5
7350-06S-1 6 31 16,0 27 58 14x1,5 17 12 4x1,5
7350-085-1 8 32 170 275 59 16x15 19 14 6x1,5
630 7350-10S-1 10 34 175 30 64 1815 22 17 7,5x1,5
7350-125-1 12 38 215 31 69 20x15 24 17 9x1,5
7350-145-1 14 40 220 35 75 22x15 27 19 10x2
7350-165-1 16 43 245 365 79 24x15 30 24 12x2
400 73502081 20 48 265 445 93 30x2 36 27  16,3x24
7350-255-1 25 54 300 50 104 36x2 46 36  20,3x2,4
7350-30S-1 30 62 355 55 117 42x2 50 41 25,3x2,4
315 7350-38S-1 38 72 410 63 135 52x2 60 50  33,3x24

* - Inana3oH TeMmnepatypbl 6€3 CHMXEeHWUsI JAaBNEHUS], NPY KOHHEKTOpPaXx C YMMOTHUTENbHbIM KonbLom n3 NBR
(ctanpgapTtHo) n FPM (nog 3aka3): NBR(Perbunan): ot -35° go +100°C - FPM (Viton): o1 -25° go +120°C

- Temperature range without pressure reductions with connections fitted with O.Ring in NBR (standard) and FPM (to order):
NBR(Perbunan): from -35° to +100°C - FPM (Viton): from -25° to +120°C

- perynvpyemMble TPONHWKM C YNIOTHUTENbHBIM KOMNbLOM 3aKa3blBatoTCA 4OMNONHUTENBHO
Mpumep kopa:: 7320-06LR (BSPP) - 7320-06LM (Metrico)

| - swivel barrel tees with o-ring seal are available on request.
A Example code: 7320-06LR (BSPP) - 7320-06L M (Metric)

52-D



il UPI‘ESS .

7070 OTkuagHow ynosoun KOHHeKTop 90°
Orientable Banjos elbows

Pe3bb6a / Thread:
BSPP
art number
| | iy |2
-_-Ill!l-
7070-06LR-1 12,0 1/8"
7070-08LR-1 8 12 14,0 16 30,5 18 17 19 22 1/4"
315 7070-10LR-1 10 12 15,0 16 30,5 18 19 19 22 1/4"
7070-12LR-1 12 12 17,5 18 385 22 22 24 30 3/8"
L 7070-15LR-1 15 14 21,0 20 445 26 27 27 32 1/2"
7070-18LR-1 18 14 20,5 20 445 26 32 27 32 1/2"
7070-22LR-1 22 16 245 24 53 32 36 32 41 3/4"
0 7070-28LR-1 28 18 29,5 29 64 44 41 41 52 1"
7070-35LR-1 35 20 355 36 79 49 50 50 62 1"1/4
7070-42LR-1 42 22 40,0 42 90 55 60 55 70 1"1/2
7070-06SR-1 6 12 16,0 16 30,5 18 17 19 22 1/4"
7070-08SR-1 8 12 16,0 16 30,5 18 19 19 22 1/4"
7070-10SR-1 10 12 18,0 18 3855 22 22 24 30 3/8"
0 7070-12SR-1 12 12 18,0 18 38,5 22 24 24 30 3/8"
7070-14SR-1 14 14 24,0 21 455 26 27 27 36 1/2"
7070-16SR-1 16 14 23,5 21 455 26 30 27 36 1/2"
7070-20SR-1 20 16 28,5 28 61 32 36 32 41 3/4"
7070-25SR-1 25 18 31,0 3 68 39 46 41 52 1"
0 7070-30SR-1 30 20 36,5 37 79 49 50 50 62 1"1/4
7070-38SR-1 38 22 41,0 42 90 55 60 55 70 1"1/2
Pe3bb6a / Thread:

Metric

part number
(body only)

--“-

| bar [
7070-06LM-1 12,0 10,0 18 10x1
7070-08LM-1 8 12 130 145 29,5 17 17 17 20 12415
5 7070-10LM-1 10 12 150 155 305 18 19 19 22 14x15
® 7070-12LM-1 12 12 175 180 385 22 22 24 30 16x15

7070-15LM-1 15 14 21,0 20,0 425 22 27 24 32 18x1,5
7070-18LM-1 18 14 225 205 455 26 32 27 36 22x1,5
7070-22LM-1 22 16 220 240 53 32 36 32 41  26x1,5
7070-28LM 1 28 18 295 290 o64 44 41 41 52  33x2
7070-35LM 1 35 20 355 360 79 49 50 50 62  42x2
7070-42LM-1 42 22 40,0 410 90 55 60 55 70  48x2
7070-06SM-1 6 12 150 145 295 17 17 17 20 12x1,5
7070-08SM-1 8 12 16,0 155 30,5 18 19 19 22 14x15
7070-10SM-1 10 12 18,0 18,0 385 22 22 24 30 16x1,5
0 7070-12SM-1 12 12 1956 195 425 22 24 24 30 18x1,5
7070-14SM-1 14 14 240 205 455 26 27 27 36 20x1,5
7070-16SM-1 16 14 235 225 485 26 30 27 36 22x1,5
7070-20SM-1 20 16 285 285 61 32 36 32 41 27x2
7070-25SM-1 25 18 310 310 68 39 46 41 52  33x2
0 7070-30SM-1 30 20 36,5 360 79 49 50 50 62  42x2
7070-38SM-1 38 22 41,0 410 90 55 60 55 70  48x2

53-D



iMHypress [} §l MM

7200 Perynupyembin 6aHaxo 90° ¢ ynnoTHUTESNbHBIM KOSTbLIOM

Orientable Banjo elbows with seal ring 5
' _l ~o-ring NBR

| CH3

L3

i

v
a1

L1

. captive seal NBR

Pe3bba / Thread: Metric

part number
ﬂ (body only)

_-Il_ﬂ-

7200-06LR-1 06 G1/8A 14,9 13,0 275 21,0
7200-06LR04-1 06 22 19 14 10 G1/4A 18,9 150 1 3,5 29,5 27,0
7200-08LR-1 08 22 19 17 10 G1/4A 18,9 140 135 285 27,0

315 7200-10LR-1 10 22 19 19 10 G1/4A 189 16,0 135 305 27,0
7200-12LR04-1 12 22 19 22 10 G1/4A 189 16,0 155 31,0 30,0

L 7200-12LR-1 12 2r 22 22 12  G3/8A 21,8 180 16 32,5 325
7200-15LR-1 15 32 27 27 14  G1/2A 269 215 195 36,0 41,0
7200-18LR-1 18 32 27 32 14 G1/2A 269 210 215 37,0 430
7200-22LR-1 22 41 32 36 16  G3/4A 329 275 24 435 48,0

160 7200-28LR-1 28 46 41 41 18 G1A 399 31,5 305 48,0 59,0
7200-35LR-1 35 56 50 50 20 G114A 498 355 355 57,0 70,0
7200-42LR-1 42 65 565 60 22 G11/2A 558 400 405 625 80,0
7200-06SR-1 06 22 19 17 10 G1/4A 189 16,0 135 305 27,0

400 7200-08SR-1 08 22 19 19 10 G1/4A 189 16,0 135 305 27,0
7200-10SR-1 10 2r 22 22 12  G3/8A 21,8 185 16 34,5 325
7200-12SR-1 12 2r 22 24 11 G3/8A 21,8 185 17 350 335

315 7200-16SR-1 16 30 27 32 14 G1/2A 269 220 21,5 40,0 430
250 7200-20SR-1 20 41 32 36 16  G3/4A 329 27,0 24 485 48,0
7200-25SR-1 25 46 41 46 18 G1A 399 31,0 305 550 59,0

160 7200-30SR-1 30 56 50 50 20 G114A 498 36,5 355 63,0 70,0
7200-38SR-1 38 65 55 60 22 G11/2A 558 410 405 715 80,0

54-D



iMHypress [} §l MM

7200 Perynupyembin 6aHaxo 90° ¢ ynnoTHUTESNbHBIM KOSTbLIOM

Orientable Banjo elbows with seal ring 5
' _l ~o-ring NBR

| CH3

L3

i

v
a1

L1

. captive seal NBR

Pe3bba / Thread: Metric

part number
ﬂ (body only)

_-Il_ﬂ-

7200-06LM-1 06 M10x1 14,9 13,0 275 21,0

315 7200-08LM-1 08 22 19 17 10 M12x1,5 17,9 14,0 13,5 28,5 27,0
7200-10LM-1 10 22 9 19 10 M14x1,5 199 16,0 135 305 27,0
7200-12LM-1 12 27 2 22 11 M16x1,56 218 180 16 325 325

250 7200-12LM18-1 12 24 22 22 10 M18x1,5 238 200 185 350 355
L 315 7200-15LM-1 15 30 24 27 10 M18x156 239 205 185 355 37,0
7200-18LM-1 18 32 27 32 12 M22x1,5 279 210 215 370 430
7200-22LM-1 22 41 32 36 16 M26x1,5 319 275 24 435 48,0

160 7200-28LM-1 28 46 41 41 18  M33x2 39,9 315 305 48,0 59,0
7200-35LM-1 35 56 50 50 20 M42x2 498 355 355 570 70,0
7200-42LM-1 42 65 55 60 22 M48x2 55,8 40,0 405 62,5 80,0
7200-06SM-1 06 22 19 17 10 M12x1,5 179 16,0 135 305 27,0

400 7200-08SM-1 08 22 9 19 10 M14x1,5 199 16,0 135 305 27,0
7200-10SM-1 10 27 2 22 11 M16x1,5 218 185 16 345 325
7200-12SM-1 12 30 24 24 10 M18x15 239 195 185 355 37,0

315 7200-16SM-1 16 32 27 30 12 M22x1,5 279 220 215 400 430
250 7200-20SM-1 20 41 32 36 16 M27x2 329 27,0 24 485 48,0
7200-25SM-1 25 46 42 46 18  M33x2 39,9 31,0 305 550 59,0

160 7200-30SM-1 30 56 50 50 20 M42x2 498 36,5 355 630 700
7200-38SM-1 38 65 55 60 22 M48x2 558 41,0 405 715 80,0

55-D



ik Lypress |7 ll mnimm

7230 [1BOMHOM OTKUAHOW YNOBOW KOHHEKTOP C YMMOTHUTENbHBIM KOMbLIOM
Double orientable fitting with O'Ring

L3

Pe3bba / Thread: Metric

part number
ﬂ (body only)

_-Il_ﬂ-

7230-06LR-1 06 G1/8A 14,9 13,0 275 21,0
7230-06LR04-1 06 22 19 14 10 G1/4A 18,9 150 1 3,5 29,5 27,0
7230-08LR-1 08 22 19 17 10 G1/4A 18,9 140 135 285 27,0

315 7230-10LR-1 10 22 19 19 10 G1/4A 189 16,0 135 305 27,0
7230-12LR04-1 12 22 19 22 10 G1/4A 189 16,0 155 31,0 30,0

L 7230-12LR-1 12 2r 22 22 12  G3/8A 21,8 180 16 32,5 325
7230-15LR-1 15 32 27 27 14  G1/2A 269 215 195 36,0 41,0
7230-18LR-1 18 32 27 32 14 G1/2A 269 210 215 37,0 430
7230-22LR-1 22 41 32 36 16  G3/4A 329 275 24 435 48,0

160 7230-28LR-1 28 46 41 41 18 G1A 399 31,5 305 48,0 59,0
7230-35LR-1 35 56 50 50 20 G114A 498 355 355 57,0 70,0
7230-42LR-1 42 65 565 60 22 G11/2A 558 400 405 625 80,0
7230-06SR-1 06 22 19 17 10 G1/4A 189 16,0 135 305 27,0

400 7230-08SR-1 08 22 19 19 10 G1/4A 189 16,0 135 305 27,0
7230-10SR-1 10 2r 22 22 12  G3/8A 21,8 185 16 34,5 325
7230-12SR-1 12 2r 22 24 11 G3/8A 21,8 185 17 350 335

315 7230-16SR-1 16 30 27 32 14 G1/2A 269 220 21,5 40,0 430
250 7230-20SR-1 20 41 32 36 16  G3/4A 329 27,0 24 485 48,0
7230-25SR-1 25 46 41 46 18 G1A 399 31,0 305 550 59,0

160 7230-30SR-1 30 56 50 50 20 G114A 498 36,5 355 63,0 70,0
7230-38SR-1 38 65 55 60 22 G11/2A 558 410 405 715 80,0

56 -D



ik Lypress |7 ll mnimm

7230 [1BOMHOM OTKUAHOW YNOBOW KOHHEKTOP C YMMOTHUTENbHBIM KOMbLIOM
Double orientable fitting with O'Ring

L3

Pe3bba / Thread: Metric

part number
ﬂ (body only)

_-Il_ﬂ-

7230-06LM-1 06 M10x1 14,9 13,0 275 21,0

315 7230-08LM-1 08 22 22 17 10 M12x1,5 17,9 14,0 13,5 28,5 27,0
7230-10LM-1 10 22 2 19 10 M14x1,5 199 16,0 135 305 27,0
7230-12LM-1 12 27 2r 22 11 M16x1,56 218 180 16 325 325

250 7230-12LM18-1 12 24 24 22 10 M18x1,5 238 200 185 350 355
L 315 7230-15LM-1 15 30 30 27 10 M18x156 239 205 185 355 37,0
7230-18LM-1 18 32 32 32 12 M22x1,5 279 210 215 370 430
7230-22LM-1 22 41 41 36 16 M26x1,5 31,9 275 24 435 48,0

160 7230-28LM-1 28 46 46 41 18  M33x2 39,9 315 305 48,0 59,0
7230-35LM-1 35 56 55 50 20 M42x2 498 355 355 570 70,0
7230-42LM-1 42 65 65 60 22 M48x2 55,8 40,0 405 62,5 80,0
7230-06SM-1 06 22 2 17 10 M12x1,6 179 16,0 135 305 27,0

400 7230-08SM-1 08 22 2 19 10 M14x1,5 199 16,0 135 305 27,0
7230-10SM-1 10 27 2r 22 11 M16x1,56 218 185 16 345 325
7230-12SM-1 12 30 30 24 10 M18x156 239 195 185 355 37,0

315 7230-16SM-1 16 32 32 30 12 M22x1,5 279 220 215 400 430
250 7230-20SM-1 20 41 41 36 16 M27x2 329 27,0 24 485 48,0
7230-25SM-1 25 46 46 46 18  M33x2 39,9 31,0 305 550 59,0

160 7230-30SM-1 30 56 55 50 20 M42x2 49,8 36,5 355 63,0 70,0
7230-38SM-1 38 65 65 60 22 M48x2 558 41,0 405 715 80,0

57-D



7240 BkpyuyuBaemblvi TpyOHbIM aganTtep C YNAOTHUTESbHBIM KOMbLOM

Bkpyuusaembili mpy6HbIl adanmep ¢ yrnomHUmensHbIM KOmbU

Pe3bba / Thread:
BSPP (Form E DIN 3852)

mm

-—-—m—

630

400

250

7240-0602
7240-0802
7240-0804
7240-1204
7240-1206
7240-1604
7240-1606
7240-1608
7240-2008
7240-2012
7240-2408
7240-2412
7240-2416

G 3/8
G1/2
G1/2
G 3/4
G 3/4
G1
G1
G1
G11/4
G11/4
G112
G112
G112

G1/8
G1/8
G 1/4
G 1/4
G 3/8
G 1/4
G 3/8
G1/2
G1/2
G 3/4
G1/2
G 3/4
G1

22,5
24
24
26
26
29
29
29
32
32
36
36
36

12
14
14
16
16
18
18
18
20
20
22
22
22

26
26
32
32
39
39
39
49
49
55
55
55

Tun A

27
27
32
32
41
41
41
50
50
55
55
55

>>>>>>>>>>>>P>

),
1 ||||I|

58 -D



Il mimm

7240 Bkpy4dmBaeMmblin TPyOHbIM aganTep C YNNOTHUTESNbHBIM KOSTbLOM
Male / Female Stud AdaptorsPacking ring Tun B

Pe3bba / Thread: i
BSPP (Form E DIN 3852)

-—--m—

7240-0204 G118 G1/4 31 14 B
7240-0206 G1/8 G3/8 32 8 14 24 B
630  7240-0402 G1/4 GA1/8 28 12 18 19 B
7240-0406 G1/4 G3/8 36 12 18 24 B
7240-0408 G1/4 G1/2 40 12 18 30 B
400  7240-0412 G1/4 G3/4 43 12 18 36 B
630 7240-0604 G38 G1/4 36 12 22 22 B
7240-0608 G38 G1/2 41 12 22 30 B
7240-0612 G3/8 G3/4 44 12 22 36 B
400 7240-0806 G1/2 G3/8 36 14 26 27 B
7240-0812 G172 G3/4 46 14 26 36 B
7240-0816 G1/2 G1 49 14 26 41 B
250  7240-0820 G12 G114 53 14 26 55 B
400 7240-1208 G314 G1/2 41 16 32 32 B
7240-1216 G 3/4 G1 51 16 32 41 B
250 7240-1220 G314 G11/4 55 16 32 55 B
7240-1224 G34 G11/2 57 16 32 60 B
400 7240-1612 G1 G 3/4 47 18 39 41 B
7240-1620 G1 G114 57 18 39 55 B
7240-1624 G1 G112 59 18 39 60 B
250  7240-2016 G114 GH1 52 20 49 50 B
7240-2024 G114 G11/2 60 20 49 60 B
7240-2420 G112 G11/4 58 22 55 55 B

59-D



it ypres |/} STy T fiH MM

7030 Apgantep namepuTenbHbIN
Gauge Couplings

mm

(body only)

BB N T A B E N 7Y
100 7030-04LL-1 4 G1/4 33 145 45 19
_-_----_
7030084 8 G14 37 145 45 19 17
703404 10 G14 38 145 45 19 19
_-_----_

7030-06S-1 G1/2

7030-08S-1 8 G1/2 46 20 5 27 19

7030-10S-1 10 G1/2 47 20 5 27 22

7030-12S-1 12 G1/2 47 20 5 27 24
Fluid Power Care 60-D

IMM Group



i ypress [

CH 1+

0 v

7250 TpyOHbIN KOHHEKTOP C BHYTPEHHEN pe: LI :
Female Stud Couplings ‘

I

o

Pe3bba / Thread:
BSPP

e [ o] e | e

(body only)

| bar | | om [ F [ L] 2] Ls]CHi|CH]
14 14

7250-06LR-1 6 G 1/8 33,5 7 12

7250-08LR-1 8 G 1/4 39 7 17 19 17
7250-08LR06-1 8 G 3/8 40 10,5 14,5 24 17
7250-08LR08-1 8 G1/2 44 14,5 14,5 27 17
7250-10LR-1 10 G1/4 40 8 17 19 19
315 7250-10LR06-1 10 G 3/8 41 11,5 14,5 24 19
7250-10LR08-1 10 G1/2 45 15,5 14,5 27 19
7250-12LR-1 12 G 3/8 40,5 9 17 24 22
7250-12LR08-1 12 G1/2 45 15,5 14,5 27 22
7250-15LR-1 15 G1/2 46 1 20 27 27
7250-18LR-1 18 G1/2 47 10,5 20 27 32
7250-22LR-1 22 G 3/4 52 13,5 22 36 36
160 7250-28LR-1 28 G1 54 13 24,5 41 41
7250-35LR-1 35 G11/4 63 15 26,5 55 50
7250-42LR-1 42 G11/2 66 14,5 28,5 60 60
7250-06SR-1 6 G 1/4 41 9 17 19 17
7250-08SR-1 8 G 1/4 41 9 17 19 19
630 7250-10SR-1 10 G 3/8 425 95 17 24 22
7250-12SR-1 12 G 3/8 425 95 17 24 24
7250-14SR-1 14 G1/2 50 12 20 30 27
7250-16SR-1 16 G1/2 50 11,5 20 30 30
400 7250-20SR-1 20 G 3/4 56 12,5 22 36 36
7250-25SR-1 25 G1 61 12,5 24,5 41 46
7250-30SR-1 30 G11/4 69 16 26,5 55 50
315 7250-38SR-1 38 G11/2 75 155 28,5 60 60
Pe3b6a / Thread:
Metric
art number
[ bar | [ wom ]| F [ 11 ] 12] 13 [CHi|CH]
7250-06LM-1 6 M 10x1 33,5 7 12 14 14
7250-08LM-1 8 M 12x1,5 39 7 17 17 17
315 7250-10LM-1 10 M 14x1,5 40 8 17 19 19
L 7250-12LM-1 12 M 16x1,5 40,5 9 17 22 22
7250-15LM-1 15 M 18x1,5 46 14 17 24 27
7250-18LM-1 18 M 22x1,5 47 11,5 19 30 30
160 7250-22LM-1 22 M 26x1,5 51 13,5 21 32 36
7250-06SM-1 6 M 12x1,5 41 9 17 17 17
7250-08SM-1 8 M 14x1,5 41 9 17 19 19
630 7250-10SM-1 10 M 16x1,5 425 95 17 22 22
7250-12SM-1 12 M 18x1,5 425 95 17 24 24
7250-14SM-1 14 M 20x1,5 50 13 19 27 27
400 7250-16SM-1 16 M 22x1,5 50 125 19 30 30
7250-20SM-1 20 M 27x2 56 125 22 36 36

61-D



L e owzsssadapiors—JUTET0)

7390 Tvnb3a TpybHas

Pipe inserts

Marepuan:
Material:

BpoH3sa
Brass

@ Ester.| @ Int.
part number
X Spess.| Tubo
m-—

7390-06x05 6x0,5 12 5

7390-10x15 10x15 7

7390-12x15 12x15 9 76 88 16,5

7390-15x15 15x15 12 102 11,8 17

7390-18x15 18x15 15 132 148 17,5

7390-20x10 20x1 18 16,2 17,8 22

7390-22x10 2x1 20 182 198 18

7390-28x20 28x2 24 222 238 18

7390-35x20 3bx2 31 288 308 225

Ldl

Fluid Power Care

62-D

IMM Group



7260 3arnywka ¢ BHyTPEHHUM LLECTUTPAHHMUKOM, YNIIOTHUTENBHOE KOMbLO

Inner hexagon plugPacking ring

Pe3bba / Thread:
BSPP (Form E DIN 3852)

L.I |||

mm

7260-02
7260-04
7260-06
7260-08
7260-12
7260-16
7260-20
7260-24

400

250

Pe3bba / Thread:
Metric (Form E DIN 3852)

G1/8
G1/4
G 3/8
G1/2
G 3/4
G1
G11/4
G11/2

17
17
19
21
22,5
22,5
22,5

12
12
14
16
16
16
16

1 9
22
27
32
40
50
55

6
8
10
12
17
22
24

mm

7260-10X10
7260-12X15
7260-14X15
7260-16X15
7260-18X15
7260-20X15
7260-22X15
7260-26X15
7260-27X20
7260-33X20
7260-42X20
7260-48X20

400

250

M 10x1
M 12x1,5
M 14x1,5
M 16x1,5
M 18x1,5
M 20x1,5
M 22x1,5
M 26x1,5

M 27x2

M 33x2

M 42x2

M 48x2

17
17
17
17
19
19
21
21
22,5
22,5
22,5

12
12
12
12
14
14
16
16
16
16
16

17
19
22
24
26
27
32
32
40
50
55

63-D



L e owzsssadapiors—JUTET0)

7270 3arnywka TpybHas

Pipe plug

part number @ Tube
(body only)

-_--_

7270-06L-1 17,5
7270-08L-1 8 23 18,5 17 14
7270-10L-1 10 24 195 19 17
7270-12L-1 12 25 105 22 19
7270-15L-1 15 26 115 27 24
7270-18L-1 28 11,5

7270-06S-1 26 11,5

7270-08S-1 8 28 135 1 9 17
630 7270-10S-1 10 29 125 22 19
7270-12S-1 12 31 14,5 24 22

7270-14S-1 16,5

315 7270-38S5-1 38 54 235 60 55

Fluid Power Care 64-D

IMM Group



L e owzsssadapiors—JUTET0)

7290 3arnywka TpybHasa ¢ ynnoTHUTENbHbIM KOSbLIOM
Pipe plug with O-Ring seal

7290-06LS 6 18 5 4x1 5
7290-08LS 8 8 18,5 6x1,5
7290-10LS 10 10 20 75x1,5
7290-12LS 12 12 20,5 9x1,5
7290-15L 15 15 20,5 12x2

7290-18L 18 22,5 15x2

630 7290-14S

315 7290-38S

33,3x2,4

7280 TlMpuBapHON TPYBHbLIN HUNMNENb C YNNIOTHUTESbHBLIM KOSbLIOM
Welding Nipples with O-Ring Seal

L1

Plpe X

L mom | mm [ oAl @B [ L1 ] mm |
7280 T o s o T
630 7280412X25 12 12x25 7 12 31 9x15
72801430 14 14x3 8 14 40  10x2

315 7280-38X06 38 38 x 6 26 38 66 33,3x2,4

| @B |

Fluid Power Care 65-D

IMM Group



it ypres |/} STy T fiH MM

7420 TonoBka npuBapHas

Welding Bosses

part number
(body only)

| bar | | mm |

7420-06S-1
7420-08S-1
630 7420-10S-1

7420-12S-1

7420-14S-1
315 7420-38S-1

=

6

38

=
=

CH I

7420-06L-1

7420-08L-1

315 7420-10L-1

7420-12L-1

7420-15L-1

= 7420-18L-1
I_---___

Fluid Power Care

66 -D

IMM Group



7120 TpuBapHOIN KOHHEKTOP CH2—\ Sl

Welding Bulkhead Connections

...... e
W |
L2
L1
part number
(body only)

=
-
N
@
S
>
I3

1 14

7120-08L-1 17

315 7120-10L-1 19
7120-12L-1 22
7120-15L-1 27
7120-18L-1 32

7120-06S-1 6 20 89 60 17

7120-08S-1 8 22 89 60 19

630 7120-10S-1 10 25 91 59 22

7120-12S-1 12 28 91 59 24

7120-14S-1 14 30 107 72 27
720684 16 35 07 7130
I_--___
71202884 25 45 120 72 46
71203084 30 50 126 73 50

~
N

315 7120-38S-1

D
o

Fluid Power Care

67 -D

IMM Group



L e owzsssadapiors—JUTET0)

7040 KOHTpOnbHbIV KnanaH
Non-return valves

HaBneHne otkpbiTus 1 BAR £ 20%
Opening pressure 1 BAR + 20% L

part number @ tube
(body only)

-—-——-

7040-06L-1 58 29,0

7040-08L-1 8 59 30,0 17 19 19
250 7040-10L-1 10 69,5 40,5 19 24 22

7040-12L-1 12 72,5 43,5 22 30 27

7040-15L-1 15 77,5 47,5

7040-28L-1 28 102,5 69,5 41 55 50
100 7040-35L-1 35 117,5 74,5 50 60 60
7040-42L-1 119 74,0 70

7040-25S-1 25 106,5 58,5 46 50 46
250 7040-30S-1 30 122,5 69,5 50 60 60
7040-38S-1 38 136,5 75,5 60 70 65

Fluid Power Care 68 -D IMM Group



£ 1

iy ]

i

7050 KoHmporsibHbIU KrarnaH, pe3uHogoe yrjiomHeHue

Non-return valves rubber seal CH&

- Bxog B.S.P.
- B.S.P. iniet _
& s o i
HasneHne otkpbiTus 1 BAR £ 20% )
Opening pressure 1 BAR + 20% s
Pe3b6a / Thread: L1

BSPP (Form E DIN 3852)

part number
ﬂ (body only)

[ bar | [ d1 [ oF | ON|
7050-06LR-1 6 1/8" 14 8 28 42,5 14 17 17
7050-08LR-1 8 1/4" 19 12 30 445 17 19 19

250 7050-10LR-1 10 1/4" 19 12 38,5 53 19 24 22
7050-12LR-1 12 3/8" 22 12 42,5 57 22 30 27

L 7050-15LR-1 15 1/2" 27 14 455 60,5 27 32 27
160 7050-18LR-1 18 1/2" 27 14 50 66 32 36 36
7050-22LR-1 22 3/4" 32 16 55 71 36 46 41
7050-28LR-1 28 1" 40 18 63 795 41 55 50

100 7050-35LR-1 35 1"1/4 50 20 69 90,5 50 60 60
7050-42LR-1 42 1"1/2 55 22 685 91 60 70 65
7050-06SR-1 6 1/4" 19 12 31,5 46 17 19 19
7050-08SR-1 8 1/4" 19 12 31,5 46 19 19 19
7050-10SR-1 10 3/8" 22 12 38 54 22 24 22

400 7050-12SR-1 12 3/8" 22 12 41 57 24 27 24
7050-14SR-1 14 1/2" 27 14 445 62 27 32 27
7050-16SR-1 16 1/2" 27 14 48 66 30 36 32
7050-20SR-1 20 3/4" 32 16 52 735 36 46 41
7050-25SR-1 25 1" 40 18 545 785 46 50 46

250 7050-30SR-1 30 1"1/4 50 20 64 90,5 50 60 60
7050-38SR-1 38 1"1/2 55 22 695 100 60 70 65

Pe3bb6a / Thread:

Metric (Form E DIN 3852)

part number
ﬂ (body only)

[ bar | | di | oFloen] || 1] L [CHi]cCH5]CHG]
6 28 14 17 17
L

7050-06LM-1 10x1 14 8 42,5

7050-08LM-1 8 12x1,5 17 12 29 435 17 19 19
250 7050-10LM-1 10 14x1,5 19 12 385 53 19 24 22

7050-12LM-1 12 16x1,5 22 12 425 57 22 30 27

7050-15LM-1 15 18x1,5 24 12 455 605 27 32 27

7050-06SM-1 6 12x1,5 17 12 315 46 17 19 19
7050-08SM-1 8 14x1,5 19 12 315 46 19 19 19
7050-10SM-1 10 16x1,5 22 12 38 54 22 24 22
400 7050-12SM-1 12 18x1,56 24 12 41 57 24 27 24
7050-14SM-1 14 20x1,5 26 14 445 62 27 32 27
7050-16SM-1 16 22x15 27 14 48 66 30 36 32
7050-20SM-1 20 27x2 32 16 52 735 36 46 41
7050-25SM-1 25 33x2 40 18 545 785 46 50 46
250 7050-30SM-1 30 42x2 50 20 64 905 50 60 60
7050-38SM-1 38 48x2 55 22 695 100 60 70 65

160 7050-18LM-1 18 22x15 27 14 50 66 32 36 36
7050-22LM-1 22 26x1,5 32 16 55 71 36 46 41
7050-28LM-1 28 33x2 40 18 63 795 41 55 50

100 7050-35LM-1 35 42x2 50 20 69 905 50 60 60
7050-42LM-1 42 48x2 55 22 685 91 60 70 65

69-D



8 4

it ypees ]

7060 KoHmporsibHbIU KrarnaH, pe3uHogoe yriomHeHue

Non-return valves rubber seal CH 11\ Sale CH 6
N,

- Beixog B.S.P. |y
- B.S.P. outlet ozt )
= 5 z
L
HasneHne otkpbiTus 1 BAR £ 20% (27 | .
Opening pressure 1 BAR + 20% N %
S
Pe3b6a / Thread: L1 |

BSPP (Form E DIN 3852)

part number
ﬂ (body only)

(o | [ @i [er[on] 1 [ i L Jomi[om o
7060-06LR-1 6 1/8" 14 8 26,5 41 14 17 17
7060-08LR-1 8 1/4" 19 12 28,5 43 17 19 19

250 7060-10LR-1 10 1/4" 19 12 38,5 53 19 22 24
7060-12LR-1 12 3/8" 22 12 40,5 55 22 27 30

L 7060-15LR-1 15 1/2" 27 14 425 57,5 27 27 32
160 7060-18LR-1 18 1/2" 27 14 48 64 32 36 36
7060-22LR-1 22 3/4" 32 16 56 72 36 41 46
7060-28LR-1 28 1" 40 18 64 805 41 50 55

100 7060-35LR-1 35 1"1/4 50 20 70 915 50 60 60
7060-42LR-1 42 1"1/2 55 22 705 93 60 65 70
7060-06SR-1 6 1/4" 19 12 31,5 46 17 19 19
7060-08SR-1 8 1/4" 19 12 31,5 46 19 19 19
7060-10SR-1 10 3/8" 22 12 38 54 22 22 24

400 7060-12SR-1 12 3/8" 22 12 41 57 24 24 27
7060-14SR-1 14 1/2" 27 14 43,5 61 27 27 32
7060-16SR-1 16 1/2" 27 14 46 64 30 32 36
7060-20SR-1 20 3/4" 32 16 50 715 36 41 46
7060-25SR-1 25 1" 40 18 545 785 46 46 50

250 7060-30SR-1 30 1"1/4 50 20 64 90,5 50 60 60
7060-38SR-1 38 1"1/2 55 22 71,5 102 60 65 70

Pe3bb6a / Thread:

Metric (Form E DIN 3852)

part number
ﬂ (body only)

| bar | | dt | oF[oN] I | L1 | L [CHI]CH5]CHE
6 41 14 17 17
L

7060-06LM-1 10x1 14 8 26,5

7060-08LM-1 8 12x1,5 17 12 285 43 17 19 19
250 7060-10LM-1 10 14x1,5 19 12 385 53 19 22 24

7060-12LM-1 12 16x1,5 22 12 405 55 22 27 30

7060-15LM-1 15 18x1,5 24 12 425 575 27 27 32

7060-06SM-1 6 12x1,5 17 12 315 46 17 19 19
7060-08SM-1 8 14x1,5 19 12 315 46 19 19 19
7060-10SM-1 10 16x1,5 22 12 38 54 22 22 24
400 7060-12SM-1 12 18x1,5 24 12 41 57 24 24 27
7060-14SM-1 14 20x1,5 26 14 435 61 27 27 32
7060-16SM-1 16 22x15 27 14 46 64 30 32 36
7060-20SM-1 20 27x2 32 16 50 715 36 41 46
7060-25SM-1 25 33x2 40 18 545 785 46 46 50
250 7060-30SM-1 30 42x2 50 20 64 905 50 60 60
7060-38SM-1 38 48x2 55 2 715 102 60 65 70

160 7060-18LM-1 18 22x15 27 14 48 64 32 36 36
7060-22LM-1 22 26x1,5 32 16 56 72 36 41 46
7060-28LM-1 28 33x2 40 18 64 805 41 50 55

100 7060-35LM-1 35 42x2 50 20 70 915 50 60 60
7060-42LM-1 42 48x2 55 22 705 93 60 65 70

70-D



	D-Adatt_DIN.pdf
	D-Adatt_DIN2.pdf

